1. Which of the following is nof a business transaction 2
(1) Bought furniture of Rs. 25,000 for business.
(2) Paid for salaries of employees, Rs. 20,000.

(3) Cash withdrawn from personal bank account, Rs. 10,000 for domestic use.
(4) All of the above

Frfafas & & H-ar aaaie a9-39 787 2 ?

(1) =edmE & [T 25,000 93 &1 HH=R @deT |

(2) HH=RA B AqT B G fHET, 20,000 FI |

(3) &R d% @ A TH S, R STFT e 10,000 FI |
(4) SIUH T

2. Which external user of accounting information is most interested in knowing the long-
term solvency position of the firm ?
(1) Employees (2) Management
(3) Bank and Financial Institutions (4) Researchers

AEHT GEAT HN HF-AT B8 IYAFTHAl BH @ deprieren e erar Rafd
S H wad oAt s wEar § 7 :

(1) ®H=rd L (2) wEE
(3) ¥ IR faig dw= (4) <MereRdr

e N

3. According to which of the following accounting concepts, even the proprietor of a
business is treated as creditor to the extent of his capital ?

(1) Money Measurement Concept (2) Dual Aspect Concept

(3) Cost Concept (4) Business Entity Concept

frr=feiad & & fp9 ARaie STaURET & AR, Haa™ & @t & o 3T
oot & T 9% AR HIET S 87

(1) &7 9= STEERon (2) 29 gsq STgEeN

(3) AT AFLROT (4) TTETEH FHE STTHROM

4. Valuation of stock at lower of cost or net realisable value is an example of :
(1) Consistency Convention (2) Conservatism Convention
(3) Realisation Concept (4) Matching Concept
AT AT S a9e Arg g7 H W HH WX Wlh B HedihT Uh IIEI0T T
(1) Hraeedr wdeE (2) HEIT HAIH
(3) REEmgSeE Hia< (4) AT Ha<
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5. Invoice is a source voucher for purchaser of goods :

(1) For cash purchases (2) For cash sales

(3) For credit sales (4) For credit purchases

AT AT & Hal & Y Th did gt 8§

(1) % @z B forg (2) = fetr % for

(3) Bfee Rt B R (4) BT wliw & fe
6. Goodwill accountisa:

(1) Personal Account (2) Real Account

(3) Nominal Account (4) None of these

Tefa @ ®

(1) =afrFEa @ar (2) It @rar

(3) I @rar 4) 379 & i &

7. A business receives its bank statement showing the closing balance as Rs. 8,500
overdrawn. It is found that there were unpresented cheques amounted to Rs. 2,000 and
uncredited deposits amounted to Rs. 1,500. Overdraft as per Cash Book is :

(1) Rs. 5,000 (2) Rs. 8,000

(3) Rs. 9,000 (4) Rs. 12,000

T FAEE B ¥ Rede s A ¥, Rrd e S 8,500 H3
mmw%nwww%%z,ooomaﬁm%mﬁm%
geﬁTl,SOOmaa%ﬂfﬁ%am&mW@rl%ﬁgm%weﬁm
(1) 5,000 592 (2) 8,000 5

(3) 9,000 BT (4) 12,000 5qx

(1) Rs. 3,50,000

(3) Rs. 4,00,000 4) Rs.3,20,000
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w5 ARt 500,000 FU F i@ oht gedt G i gy & e,
g g9 20% e Nl Sar 21 M @ & gid H afRdaEt o gem

T B 7
(1) 3,50,000 T (2) 2,56,000 BT
(3) 4,00,000 &I (4) 3,20,000 5IZ

9. Rebate is calculated for the period between date of :
(1) Payment and Maturity Date (2) Drawing and Payment of Bill
(3) Drawing and Maturity Date (4) None of these
we @ o FreRa Rt & S @ oty & fag 1 omd ¥
(1) e IR gRuerear fafy (2) foaeT @1 eTETer SR YA
(3) oTeXeT 3R qRuerrr fafy (4) 399 q P13 T8I

10. Suspense Account is opened when :
(1) Balance Sheet does not match
(2) Trial Balance does not match
(3) Total of Sales Account does not agree
(4) None of these
&g @ 99 @l Sar 8, 9
(1) 3f| <fie A« & @l
(2) TS a9 A9 & @
(3) ot @1 @1 FrT A9 TE @
(4) 379 q g &

11.  Which of the following is nof an error of principle ?
(1) Purchase of Machinery debited to Purchase Account
(2) Sale of Old Furniture credited to Sales Account
(3) Repairs on the overhauling of existing Machinery debited to Machinery Account
(4) Cash received from Mohan posted to Sohan Account
Prefias & & H-d1 Rrsfa 3 727 8 7
(1) 7N = @i @ %a @ J Sfe fFar ™
(Dg’fﬁwﬁatﬁf%mﬁaﬁrﬁmﬁaﬁff%%?mw
(3) AT Aefed @ SRR R AR H "Md @ H Sfee fear
(4) e q urg Bl H A & @ 7 dre fhar
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12. In the event of abnormal loss (say, loss of goods by fire) the amount of loss debited is :
(1) Purchase Cost of the goods
(2) Purchase Cost of the goods plus GST paid
(3) As per the firm's decision
(4) None of these
Wﬁ(ﬁ,mﬁ%ﬁﬁ)ﬁ@%ﬁ%ﬁ@gﬁﬁ?ﬁ
e
(1) 71 & TS AT
(2) HE @ @S AR A AT =T ST
(3) ®° & Fof & oTgar
(4) 577 A g TEH

13. If the gross profit is 50% of cost of goods sold and sales are Rs. 1,50,000, the amount
of gross profit will be :

(1) Rs. 50,000 (2) Rs. 75,000
(3) Rs. 25,000 (4) Rs. 16,667

aﬁwmé%ﬂnéa@aﬁaﬁamww%%aﬁiﬁzﬁ1500006@%
Q Gehe @TH @ AR BEN

(1) 50,000 &9 (2) 75,000 59
(3) 25,000 597 . (4) 16,667 59

14. If an organization wants to develop a computerized accounting system according to its
need as the business of the organization is complex, which software should it opt for ?

(1) Ready to use software (2) Customized software
(3) Tailor-made software (4) Any of the above

aﬁaﬁé@maﬁm&m%awwwmw
mm%mmwwaﬁﬁ%@ﬁ?—wmw

=ifeT ?
(1)W%WWW (2) HEHETS AT
(S)W—ﬁgﬁ’m@m’ _ (4) SIR<6 § q g 0
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15.

16.

17,

18.

Grouping of Accounts means the classification of data from :
(1) Assets, Capital and Liabilities

(2) Assets. Capital, Liabilities, Revenues and Expenses

(3) Assets, Owners equity, Revenue and Expenses

(4) Capital, Liabilities, Revenue and Expenses

@rat & TIEETT B A B S HT FifRor ¢

(1) =y, goft o 2w

(2) |ufy, gf, 3gal, e AR &

(3) |y, Aferenl @ gfael, TorE ok =g

(4) ToR, Agamd, e &Y Y

The industry which combines various ingredients into a new product is known as :

(1) Processing industry (2) Synthetical industry

(3) Assembling industry (4) Analytical industry
g IR S AR amEiEEr @ ] T A9 SdE SHT 8, 99 39 89 H

ST ST 8

(1) STEEBTOT I (2) fAafes IamT

(3) el JET (4) fas9oTHE IJET

Which of the following cannot be classified as an objective of business ?

(1) Innovation (2) Productivity  (3) Investment (4) Profit Earning
RraRied § & fra =ga™ & 9299 B 9 A giiigd 787 fRar S Hebdl & 7
(1) sEm=rR (2) IcaTEHdl (3) fasr (4) AT HHEAT

Which of the following does nof characterize business activity ?

(1) Salary and Wages

(2) Presence of risk

(3) Sale and Exchange of goods and services
(4) Production of goods and services

Prfofad & @ $19 aEaris A @ @ 787 8 7
(1) 37 IR Aol

(2) S i IgRafa

(3) aeged ol darelt &t famst oM fafra

(4) axgaAl ol fareT @1 Icara
P.T.O.
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19. A person through his own initiative, conduct or behaviour gives an impression to otherg
that he is a partner of the firm. Such partners is known as ................ !

(1) Nominal Partner (2) Partner by Estoppel
(3) Sleeping Partner (4) Secret Partner
U AfRE ST Ued, STERel AT S & WA A gAdl @l A8 AT I
fp ae o 1 wrfieR &1 Q@ ATTER B o F @q H S SR 2
(1) A ARTER (2) TEOA ERT AFNE
(3) TR g (4) T ArTErR
20. The maximum amount up to which a company can issue capital is called ................ ;
(1) Issued capital (2) Paid up capital
(3) Authorized capital (4) Subscribed capital
a8 offeran TRT BT a6 A FU GO0 ST BT FHA 8, IH oo Fal
ST 2 |
(1) ST o (2) g T
(3) At gl (4) TeEEhrzEs ol
21. In a cooperative society the principle followed is :
(1) One share one vote (2) One man one vote
(3) No vote (4) None of these
e afEfr ¥ Frefafed Risia & qes R S ©
(1) Tsh X TH dlT (2) Wsh AP TH Al
(3) g dre TEl (4) T & wg TH

22. Disinvestments of Public Sector Enterprises (PSEs) imply :
(1) Sale of equity shares to private sector/public
(2) Closing down operation
(3) Investing in new areas
(4) Buying shares of PSEs
ardeeE & @ Sat (PSEs) & @ @ acd ®
(1) Froft &= = s Qi @1 fosnt
(2) o= S &I
(3) @ &= H fraer BT
(4) PSEs & &% @{eT
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23.

24.

25.

7

A government company is any company in which paid up capital held by government

s not'less than ,.cevssevswines .

(1) 49 percent (2) 50 percent

(3) 51 percent (4) 100 percent

WHE FHUA g8 FON T FEH TER awr & 7 geer o Gl
FH FET B |

(1) 49 sfyera (2) 50 wicrer

(3) 51 sfyerd (4) 100 wfersra

The shares of Govt. company are purchased in the name of which of the following ?
(1) The Indian Govt.

(2) The President of India

(3) The Chief Minister of state where the head office of company lies

(4) The Managing director of the company

TIHRI HUl & Y Fr=fefad § & s 9m o) 'ie 9 § 7

(1) 9T 9=hR

(2) R & oAy

(3) 39 T[T % FEgHAl el HUA F AT Rad ¥

(4) 9T > yay AR

The Ordinary shares of a company are delivered to depository bank, which in turn

issues the depository receipt known as ................ ;

(1) American depository receipt (2) Global depository receipt

(3) Commercial paper receipt (4) Certificate of deposit receipt

fepell U & AR Ex fBuied Fo & AN I 2, S e ¥ Ruiled
I ST BT &I ovvnovensie. $ @Y H AT SR B

(1) smafer fSuifsed @
(3) aifoigs 9 g

(2) Afger fedited W=
(4) STHT T BT FHOT O

|
JG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) P.T.O.
|
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J to implement the final act of Uruguay Royp,

26. World trade Organisation Was establishe

Agreement Of .......cooeeeree : (4) TRIMs

(1) TRIPS (2) GATT |
Rreq oAy TEd @ TTTAT ooooeeemees 3 s AT AHEA B sify
s @ w H g B e

(1) fg= Q) (3) FaAS (4) fe=d

27. NAFTA stands for :
(1) North American Federal Trade Agreement
(2) North American Free Trade Agreement
(3) North Asian Free Trade Agreement
(4) North Atlantic Free Trade Agreement
ArFer (NAFTA) @1 a1l B
(1) ST emfeh G AR aHedT
(2) I SRR Foh AR AT
(3) TR QRMETE T AR T
(4) ST STedifesd b ATIR AHA

28. ............. is the payment method most often used in international trade which offers

the exporter best assurance of being paid for products sold internationally.
(1) Letter of Credit (2) Open Account
(3) Factoring (4) Credit Rating Agencies

............. SIS AR § 99 ot @ & oy 5
3 Wgﬁaﬂq@i‘?{%’

ﬁﬁaﬁmﬁaﬁﬁgﬁawwaﬁmﬁaﬁmﬁ%m?mm

T T 3T/ AT IS HIAT T E

(1) g 7= (2) @1 GreE
(3) BT (4) BfeeT I oSty
UG-EE-June, 2024/(Commerce-4 Yr.)(SET—Z)/(A)



29, Recently; % .oivsidans bank was launched by Prime minister Modi to provide credit to

small entrepreneurs.

(1) Udyog (2) Laghu Udyog

(3) MUDRA (4) Ujjawal

BT &, guEE A6l 3 BIC JABE B HKOT IS B B R L
deh T AT AT |

(1) & (2) @y IANT

(3) g=1 (4) Sooad

30. EOUs stands for :

(1) Essential Operating Units (2) Export Oriented Units
(3) Export Order Units (4) Essential Ordering Units
EOUs &1 <7¢f ©

(1) sTrasgsh qfRere gl (2) Frafa @ gepr=at
(3) I TR gl (4) STETF ITRYT SHBAT

31. XYZ club has a bar that maintains a separate trading account for its trading activities.
Which of the following is the treatment of profit or loss on bar trading activities ?

(1) Profit or loss is directly shown in the Balance Sheet

(2) Profit or loss is to be presented in income and expenditure account
(3) Profit and loss is credited in income statement

(4) Profit or loss is added to accumulated fund

XYZW%W@W%@MWW%m@aW

aﬁﬁ@mm%lmiﬁﬁﬂﬁﬁ@?ﬁwwmaﬁrwwﬁwﬁ%ﬁ
FaapTgaAe?

(1) @1 ar a1+ &1 WY T MNe ¥ R omar
(2)wmaﬁﬁaﬂuaﬁrm@%ﬁm§amwaﬁq
(3) @1 AR B Y ST Fa=or F oy fEar oy ®

(4) w7 &1 B B dfe MY § shrer s

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) P.T. O.
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32. When there is a building fund and construction of building is incomplete, the amount
spent is :
(1) Transferred to Capital Fund
(2) Transferred to Income and Expenditure Account
(3) Continued in the Building Fund Account
(4) None of the above
WW%&%%@%WWW@@@W%,@@%#%T@T

el B
(1) 9oft iy & wermriafa ) e o e @ # T
(3) s My =@ § s (4) STH F T Hg B
33. A Not-for-Profit organization includes :
(1) Religious Organizations (2) Trade Unions
(3) Clubs (4) All of the above
Teh TR-ATEN Eew 7 enfeer ¥
(1) =¥ e (2) 3 gfTEA
(3) =T (4) SUAH A
34. Pick the odd one out of the following :
(1) Rent to Partner (2) Interest on Partner's Capital
(3) Manager's Commission (4) Interest on Partner's Loan
e & & s @ o
(1) | @ e (2)1?1@3‘[‘{3%@“@:1?{
(3) wEush T HHIA (4) EEER F FOT X AT

35. A manager gets 5% commission on net profit after charging such commission gross
profit Rs. 5,80,000 and expenses of indirect nature other than manager's commission
are Rs. 1,60,000. Commission amount will be :

(1) Rs. 21,000 (2) Rs. 20,000 (3) Rs. 15,000 (4) Rs. 22,000

Th TEUD B §H TLE& Db BHHIGE B TS R B qE g T 50,
T 2, "a @ 5,80,000 mﬁWw%ﬁm%?ﬁéﬁg
gpia % @= 1,60,000 59F T | HHE H AR ARG

(1) 21,000 593 (2) 20,000 592  (3) 15,000 5q3

(4) 22,000 5=
UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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36.

37.

38.

11

X and Y are equal partners. They had advanced a loan of Rs. 40,000, contributed
equally to the firm on Ist August, 2019. The partnership deed is silent regarding the
payment of interest on loan. What amount of interest on loan is payable to X, if firm

closes its books of accounts on 3 1st March every year ?
(1) Nil (2) Rs. 2400 (3) Rs. 1600
X X Y sk & g £ oow | orTE, 2019 @ BH F @AM w9 |
AT HT BT 40,000 T BT FOT AT o1 | ARG faere R 0¥ A &
PTIE & G § g9 21 afs wH 87 a3 Ard #r g @rar & fhdr |
FIA D, @ X B WO GX A H fhae AT AT B 7

(1) = (2) 2400 9 (3) 1600 B9 (4) 800 5T

(4) Rs. 800

X and Y are partners with capitals of Rs. 3,00,000 and Rs. 1,00,000 respectively. The
profits (as per Profit and Loss Account) for the year ended 31st March, 2020 was  Rs.
1,20,000. Interest on capital is to be allowed at 6% p.a. Y was entitled to a salary of Rs.
30,000 p.a. The drawings of partners were Rs. 30,000 and Rs. 20,000 respectively. The
interest on drawings to be charged to X was Rs. 1,000 and to Y was Rs. 500. Their

share of profit after necessary appropriations were :
(1) XRs. 33,750; Y Rs. 33,750 (2) X Rs. 50,625; Y Rs. 16,875
(3) X'Rs. 33,000; Y Rs. 33,000 (4) X Rs. 48,750; Y Rs. 48,750

X R Y mFer 3,00,000 59 TR 1,00,000 HGF H S & AT AHEK ¥ |
31 "/, 2020 H @EE ad & fg oy (@ iR ' @i & STgER)
1,20,000 B9 &7 gofl 9% 6% Uiy af @ X | = &g Sw E10Y 30,000
S99 Wiy T A9 UM @l BHAR AT| WEERT B AT HAT: 30,000 I AR
20,000 B9F & | eI 9X X B 1000 FIF X Y & 500 HIA 1 A fe@AT

STET o7 | STE9gs fafae & a @y § 39 Ber o -
(1) X 33,750 93; Y 33,750 594 (2) X 50,625 599; Y 16,875 &9
(3) X 33,000 93 Y 33,000 594 (4) X 48,750 593; Y 48,750 9

Which of the following statements is correct ?

(1) Goodwill is a fictitious asset (2) Goodwill is a current asset

(3) Goodwill is a wasting asset (4) Goodwill is an intangible asset
fr=feifag & & @9 a1 Ho9 &l © ?

(1) ety o reafyes aREa & (2) ey o A aiREur §
(3) =afer ush =9ef iy & (4) T weh o aREuf B

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) P10,
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39.

40.

41.

Weighted Average Profit Method of calculating Goodwill is useful when :

(1) Profits are not similar over the years

(2) Profits show a trend either rising or falling

(3) Profits arc higher in one year and lower in another

(4) Profits are similar in all years

AT BT HRA H AR ofrEa @ fafyr qe IuEret @ ® e
(1) @ ot & a9 =1 e §

(2) T4 & gfs ar w0 B sy ReE 30

(3) & TF ad ¥ s AR TR F A B

(4) @7 |t ast ¥ g9e Sar

[f the incoming partner brings the amount of goodwill in cash and also a balance exists
in the goodwill account, this goodwill account is written off among the old partners in :

(1) Old Profit-Sharing Ratio (2) New Profit-Sharing Ratio
(3) Sacrificing Ratio (4) Gaining Ratio
Al TN g WrTER @iy @ ART Awe ¥ oarar § ool ey @ § 9w

ART ST ANpE B, @3 @y @w B ®E ariERt @@= e ser § R
ST ®

(1) AT AH-T8HeE 37U (2) AT ATH-HEHTSTT  STIIT
(3) @I STUT (4) T STgATT

X and Y are partners sharing profits in the ratio of 3 : 2 and capitals as Rs. 1,00,000

and Rs. 50,000 respectively. Z is admitted for 1/5 share in profits. The amount Z will
contribute as capital will be :

(1) Rs. 50,000 (2) Rs. 35,000
(3) Rs. 37,500 (4) Rs. 60,000
X Y @9aR 3 :2 & AgUa F o aed ¥ o st 1,00,000 9z iR

50,000 &9 N IS S F 1 Z B o F 1/5 Req 23 3
SIS & WU H Z B AR H W anht iy 8y e

(1) 50,000 59 (2) 35,000 59
(3) 37,500 59 (4) 60,000 5T

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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42. Amla, Bimla and Kavita were partners sharing profits and losses in the ratio of 4 3k 1.,
Bimla retires and gives her share of profit to Amla for Rs. 3,600 and to Kavita for

Rs. 3,000. The gaining ratio of Amla and Kavita will be :

(1965 @y 2l (3).6%45 4) 4:1

T, Fe ofR T 4 03 ¢ 1 @ oTgud A @re ol eI dfed g ArsEr
F| Ry Aaifige & o ® ok ot e @ [l ST @ 3,600 HUF
o ST @ 3,000 5 ¥ A T orHEw MR HAAT FH A ST BET :

(1) 4:5 @) 241 @3) 65 4) 4:1

43. On the death of a partner, the amount due to him will be credited to :

(1) All partner's Capital Accounts (2) Remaining partner's Capital Accounts
(3) His Executor's Account (4) Governments' Revenue Account
Fpll TIeR I 70g 8 Wx, S§ 7 RT HII ST I S 7
(1) &1 |t & oot @ (2) Y FEERT B ol @rd
(3) Suh MwEs B TN (4) OXHR B oI ST
44. Which of the following is transferred to Realization Account ?
(1) Balance of Cash Account (2) Patents Account
(3) Balance of Reserves (4) Balance of Profit and Loss Account
Frfefaa & & fpd agel @@ § wermiaRe fear siar & 2
(1) g T H1 AT (2) 9 @ran
(3) Rt 1 (4) @7 oNX BT @ A

45. At the time of firm's dissolution, if realized amount of asset is not given, the realized
value should be taken as :

(1) Book Value (2) Market Value
(3) Nil (4) None of these

W%ﬁm%w,aﬁqﬁﬁﬁaﬁwﬁmmﬂﬁﬂﬂé%ﬁraﬂﬁm
I 39 9K o ST =y

(1) =@t g (2) ISR geg
(3) I (4) 379 q HE T

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) BT, O
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46. Which of the following is mof a purpose for which Securities Premium can be used 7
(1) Issuing fully paid bonus to shareholders
(2) Issuing partly paid bonus to shareholders
(3) Writing off preliminary expenses of the company
(4) In purchasing its own shares (buy back)

Frfifaa & & @ a1 oteg dar 72F & Pras Ro afrgfa Siftes 0 soam
[T ST Hehar B 7

(1) FRERA B G e ¥ G B T A S F
(2) AR Hr AfNH TG GIAA AT THT GIAA S BT
(3) Ul & URPTE @@=t B oA

(4) ST T B R e F (A wrde)

47. Which of the following statement does nof relate to 'Reserve Capital' ?
(1) Itis part of uncalled capital of company
(2) It cannot be used during lifetime of a company
(3) It can be used for writing off capital losses
(4) Itis part of subscribed capital
Fr=fafeaa § & S ar wue omfea O § defua g8 ' 7
(1) T8 HI1 H ATYH Joil B BEAT 8
(2) TEHT IYGNT HIEI B STA-RIT B AR A& AT 1 bl &
(3) SHH ITANT TSI =1 & e & g fpar s oawar B
(4) 98 geeEhEss ol @ @ 8

48. ABC Ltd forfeited 2,000 shares of Rs. 10 each (which were issued at par) held by
Naresh for non-payment of allotment money of Rs. 4 per share. The called-up value per
share was Rs. 9. On forfeiture, the amount debited to share capital will be :

(1) Rs. 10,000 (2) Rs. 8,000 (3) Rs. 2,000 (4) Rs. 18,000

TRl ffes T MR E0 @ MW 10 F9 AR qER B 2,000 AR (S THEe
o S Y T A) B4 FAY A MR B ™S ¥F B OPEAE A FT B
WWWWIWWW—GWW9€@WIE@W,W@§
Sfere @t 15 T 8RN

(1) 10,000 593 (2) 8,000 &9 (3) 2,000 59 (4) 18,000 59X

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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49. Securities premium Account is shown on the liabilities side of Balance Sheet under the

head :
(1) Reserves and Surplus (2) Share Capital
(3) Current Liabilities (4) Non-Current liabilities
sfcrfer sifEesy @ A9 e & 2 vt F ey e & ded @ B
(1) ReE ofir erferdiy (2) =X Gl
(3) = S (4) A-=reg B
50. Premium on redemption of debentures is generally provided at the time of .............. ;
(1) Issue of Debentures (2) Redemption of Debentures
(3) Writing off (4) After 10 years
fede & A/ ox it e W % gAY e fhar Ser
2
(1) fEer s &= (2) fEdex & ArEE
(3) I @ ¥ sEm (4) 10 91T =

51. When debentures are issued at par and are redeemable at premium, loss on such an

issue is debited to: ;..covemssmae :

(1) Profit and Loss Account

(2) Debenture Application and Allotment Account
(3) Loss on the issue of debentures

(4) Premium on Redemption

Se fed=y gaged WX 9 e S § oik diftmw wr Ay da §, & o
g @ 89 arcir s &1 . # Sfae fpar sar 3

(1) @ SR s @

(2) fesex emass SR ofEed @rar
(3) feeER S #xA 9X B

(4) \rE_ 9X A

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) P.T. G
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52. Debenture Redemption Reserve is created ... ’
(1) At the closure of previous accounting year
(2) Before 30th April of current year
(3) Before redemption starts
(4) All of the above
e Ao R .oveneennnns AT ST 8 |
(1) es d@r ad & @Hue 9
(2) =L ay #Hr 30 T F dBA
(3) e gE A A T
(4) ST<H A

53. Which of the following is rot true about Debenture Redemption Reserve ?

(1) DRR created @ 50% of amount of debentures issued before the commencement of
redemption.

(2) Withdrawal from DRR can be made only after 10% of debenture liability has been
redeemed.

(3) DRR is required in case of Fully Convertible Debenture.

(4) DRR is not required in case of debentures with maturity period of 18 months or
less.

e frea Rod & oy & fr=fafag § @ &9 a1 9 7@ e ?

(1) Wgﬁéﬁﬁ@mﬁmmmaﬁmT%SO%wDRRm
ST B

(2) DRR & Freprdt Saer asft &1 S @t 8 5 fFe= zar &1 10% A=
g T 8|

3) @WﬁWW%WﬁDRR#WQW@?ﬁ%I

4) 18 7ER a1 IEA H9 H IRUFEar @y g fEdE @ AE § DRR &N
AELIHAT TS B |

54. The loss of reissue of forfeited shares not exceed the .................. amount.
(1) Issued (2) Subscribed (3) Forfeited (4) None of these
sTaq fpU T ARt B gAFE H B ieT | offtes 7EF  Brl
(1) smi (2) oAfde= (3) S=1 (4) 8 q HI3 Tl

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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55. Birla Ltd forfeited 7,000 equity shares of Rs. 100 each issued at a premium of 10% for
non payment of first and final call of Rs. 40 per share. The maximum amount of
discount at which these shares can be reissued will be -

(1) Rs. 2,80,000 (2) Rs. 4,20,000
(3) Rs. 4,90,000 (4) Rs. 3,50,000

ferem fifees 9 40 99 9fr =R A sl ol oifed AT HT I A
B H BT 10% & NHETT 9% ol fpg @ 100 597 gdE $ 7,000 sfrrd
A B ST H AT G W erferrad iy B qv 29 9T @ BT & o
T ST |epar 8, 98 B8rf o

(1) 2,80,000 59 (2) 4,20,000 T
(3) 4,90,000 54 (4) 3,50,000 59

56. Employees Stock Option cannot be issued to :

(1) Managing Director (2) Permanent Employee
(3) Wholetime Director (4) Independent Director
A Bl faepea sl 7&F  fopar o | B
(1) wsg MR (2) T FHHE
(3) golerfees e (4) @@= R

57. Private Placement of issue is considered as :
(1) Registered issue (2) Unregistered issue
(3) Federal issue (4) Negotiable issue
e & ot <rade @ 39 9 J=1 STar @
(1) defpa Frtam (2) erdsfiga et
(3) @@= e (4) T e

58. Creditors or Suppliers are interested to know the :
(1) Profitability of the firm in relation to turnover
(2) Profitability of the finn in relation to investments
(3) Short-term solvency of the concern
(4) Effective utilisation of firm's resources

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) P: T 0.
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AER A1 eyfciedl o8 s & sfa v ¥ o
(1) Ny & deg & wf a5 arsyoear

(2) ™aw & daa § ®wd i ArTvEar

(3) AT @t oTcuehIfers dfeare

(4) 5 & FEEET B gHE ST

9. Which of the following is not an objective of Analysis of Financial Statements ?

(1) To judge the financial health of the firm
(2) To judge the short-term and long-term liquidity position of the firm
(3) To judge the reasons for change in the profitability of the firm

(4) To judge the variations in the accounting practices of the business followed by
different enterprises

forita fa=elt & fsdiwor @ SReg & e FreRiiad § @ H9-91 O e
T ??

(1) ®4 & faxig w@ren &1 eTheT &
(2) ®H = TTUHIRG MR SrHpIRIE axeeT Ry H oTheT HIAT
() ®H H AvvEar § aRadT B FROY B MHETT HT

(4) faf¥ =1 Sl Err oTUMIT ST e e & SR wenelt § RTAT @6
SThTAT HIAT

60. Given the Opening Stock is Rs. 31,000, Closing Stock is Rs. 29,000, Sales is
Rs. 3,20,000 and Gross Profit ratio is 25% on sales; the stock turnover ratio is :

(1) 31 times (2) 11 times (3) 8times (4) 32 times
WW%%@WWBLOOOS@%Weﬁtsw,ooom%, IEED]

3,20,000 97 & AR THA TTH UM REH 9 25% B R oiEy ST
Bk

(1) 31 7 (2) 11 7 (3) 8 T (4) 32 T

61. Quick ratio is 1.8 : 1, current ratio is 2.7 : 1 and current liabilities are Rs. 60,000.

Determine the value of stock.
(1) Rs. 54,000 (2) Rs. 60,000 (3) Rs. 1,62,000 (4) Rs. 1,80.000

@Ra ST 1_8;1%,a@aﬁqﬁ2.7zl%ma@3ﬂﬁﬁ 60,000 93 ¥ |
wieh &1 Jeg i &

(1) 54,000 59  (2) 60,000 G (3) 1,62,000 59 (4) 1,80,000 sq=y
UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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62. Which analysis is considered as dynamic ?

(1) Horizontal Analysis (2) Vertical Analysis
(3) Internal Analysis (4) External Analysis
feper fareetoor @t nfereiier AT ST @ 7

(1) afdsT fasayor (2) TR Rrgarer
(3) TR fasarsor (4) =mer faeeraeT

63. Zed Ltd. has balance in Provision for Tax Account of Rs. 50,000 and Rs. 75,000 as on
31st March, 2021 and 2022 respectively. It made a provision for tax during the year of
Rs. 65,000. The amount of tax paid during the year was :

(1) Rs. 50,000 (2) Rs. 60,000
(3) Rs. 40,000 (4) Rs. 75,000

e ffes & am 31 =, 2021 ol 2022 @ AT 50,000 BIY S
75,000 $UF H FHT gEUE @ F Q9 AR T zEN a9 B A 65,000 SIA
% Y B U@L fRAr ) ad AW A @ TS w7 Aqnr o

(1) 50,000 59 (2) 60,000 BT
(3) 40,000 59 (4) 75,000 59

64. Which of the following transactions will result in 'Flow of Cash' ?
(1) Deposited Rs. 10,000 into bank
(2) Withdrew cash from bank Rs. 14,500
(3) Sale of Machinery of book value of Rs. 74,000 at a loss of Rs. 9,000
(4) Converted Rs. 2,00,000, 9% Debentures into equity shares
fFrfafea § & PF-ar d-ed ‘el e’ § qRer snm ?
(1) S & 10,000 9 ST fHQ
(2) % T 14,500 v THa wRT
(3) 9,000 &I H BT 9T 74,000 92 & &b aog H AN F=h
(4) 2,00,000 B9, 9% fEe=R ® gl ot F uRRafkta fpa

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) P. T, 0.
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65. Amongst the following 'payment of bonus to employees’ by an Insurance company is
which type of activity ?

(1) Operating Activity
(2) Investing Activity
(3) Financing Activity
(4) Both Operating and Financing Activity

Rrfofag § O oh ST N B8R eHEEal @ ama B A e W
1 nfafafy 2 2

(1) aR=me= wfafafer

(2) tasr wfafafe

(3) ooy wifafafy

(4) o= X gy =1 aiferfafey

66. Henry Fayol is famous for :

(1) Scientific management (2) Social Science
(3) Human relations approach (4) None of these
B B s e ofes ¥ -

(1) Isni~ep weiers (2) T fasm=
(3) HEE Hey giespror 4) 379 | B e

67. Who is known as founder of "The spiritual father of social science" ?

(1) Chester Bernard (2) F. W. Taylor
(3) Henery Fayol (4) Elton Mayo

(1) =r=x =9t (2) Tho T=Yo I
(3) 3T BT (4) TeeT =3y

68. One head and one plan for group means :
(1) Unity of command (2) Order

(3) Unity of direction (4) Discipline
W%mwg@maﬁ“{@ﬁwaﬂaﬁ%:
(1) ITRET B Tepar

(2) =gy
(3) et &1 gemar

(4) SrgemEs
UG-EE-June, 2024/(Commerce-4 Yl‘-)(SET-Z)/(A)
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72. Restrictive trade practices area sought to be regulated in India by :
(1) Insurance regulatory development Authority
(2) Reserve bank of India
(3) Competition Act
(4) Foreign exchange Management Act
Wﬁqﬁﬁqumaﬁ%%aaﬁﬁw%m%ﬁmﬁﬁmﬁm
H T
(1) s e e ifeeseT
(2) ¥<ia ReE d
(3) wfeayt stfafas
(4) foReht ga1 weu ARt

73. Rangarajan Committee, 1993 is associated with :

(1) Privatization (2) Labour reforms
(3) Industrial sickness (4) Monetary policy
TR gt 1993 frad ddfta B 7

(1) T=sieReT (2) =™ gux

(3) ofEnfes SEE (4) Fizw AT

74. Which of following is the determinant of Economic environment ?
(1) The stage of development of economy
(2) The level of income and distribution of income
(3) Availability of natural resources
(4) All of the above
=1 & & ®9 onfies gateawer & MuRes 3 7
(1) rdemaeen & fawmE @1 awen
(2) = H WX AR A FH feon
(3) Wi HATIAT W I
(4) IUIH Tt

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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75, Planning

76.

(7

78.

79,

process (2) Goal oriented

(1) An intellectual
(4) All of the above

(3) A dynamic function

forer 2

(1) @& S wfeRaT (2) & IE

(3) o ashi & (4) IUA |

The chronological sequence of steps is known as :

(1) Rule (2) Procedure (3) Method (4) Strategy
a@ﬁ%mwgmﬁ?ﬁaﬂ%qaﬁmwﬁmm%:

(1) FrH (2) wfwaT 3) fafy (4) ToTAIRT
Guide to decision making is :

(1) Policy (2) Procedure (3) Method (4) Rule
fFrefg o9 & fie AR @ -

(1) =y (2) wfepa (3) fafa (4) e

Everything that goes to increase the importance of role of subordinates 1$ called :

(1) Centralisation (2) Delegation

(3) Decentralisation (4) Departmentation

@Wﬁﬁhﬂ%qﬁﬁa@ﬁaﬁﬁaaﬁaﬁmm%:
(1) Sdrawzer @) wfaffeEsd

(3) fopsiienzer (4) FaATRTT

The process of delegation is generally :
(1) Upward

(3) Vertical

sRffese = wfpar ST a¢ ad @

(1) Su% &t R (2) A @l aft

(3) Tedarat (4) et

(2) Downward

4) Horizontal

P.T.O.

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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80. Departmentation means :
(1) Dividing activities (2) Dividing work
(3) Grouping of work (4) Grouping of similar work
fersrfiepeor @1 o1 B
(1) wfefafet @ fasfSe sen (2) ® @ faera BT
(3) T H FEB ‘ (4) G B B TIEBL

81. Staffing includes :
(1) Determination of sources of recruitment
(2) Selection and placement of employees
(3) Transfer, promotion and maintenance of work-force
(4) All of the above
e ® nfaer ¥
(1) «<F & |at & Ao
(2) wHH=RAT w1 =F= X FrgRe
(3) ST FH TIFERON, TEI=R R @@

(4) SIH gt
82. It refers to horizontal movement of employees along with organizational structure :
(1) Transfer (2) Training (3) Promotion (4) Demotion :
(1) w=ITiceT (2) wfeTerer (3) Ry (4) g=TEATT |
83.

Which type of training is provided to new employees in order to familiarize them to |
organizational rules and policies, their superior and subordinates and so on ?

(1) Vestibule training (2) Apprenticeship training

(4) Induction training
T FHARAT B AT ol o AR, oo i g Sl
%qﬁﬁamﬁ%mmwmmm%mwﬁ?a

(1) afR=ger wfareror (2) wfRwEET S
(3) gt wfdreyor (4) ST wfdreyor

UG-EE-June, 2024/(Commerce-4 Yr)(SET-Z)/(A)
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84.

85.

86.

87.

88.
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Leadership which involves employees in decisjon making process ?

(1) Autocratic
(3) Enclose

Motivation in nature is :
(1) Sociological process
(3) Psychological process
sty & o R

(1) G qishar
(3) AAIAsE Hiehar

An autocratic leader is :

(1) Decision maker

(3) Encourages participation

ush fReger A

(1) fofg famfar @

(3) «rfer @ deared & 8

Control is associated with :

(1) Cooperation  (2) Direction
ferg=ror fpad o1 8 °?

(1) w3 (2) s

Gang plank stands for :

(1) Vertical communication
(3) Quick communication
T S B HATT B

(1) Fdarer =

B) @@ =

(2) Democratic

(2) Physiological process

(4) Intellectual process

(2) emafkes ufssar
(4) MNfeze ulpan

(2) Believe in lassieze-fair
(4) None of these

(2) IHI-%aX § g FHar 2
(4) &5 | Hg T

(3) Planning (4) Organising

(3) AT (4) EH

(2) Horizontal communication

(4) Two dimensional process

(2) &fas |9
(4) Q-Tart gfsHar
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LR ST TR maximization objective fail to recognize quality of benefits
(1) Value (2) Wealth
(3) Profit (4) Both (1) & (2) . N
............. AfrperRReT SR @ @ T 1 gger A fahel T e
(1) I (2) @ufer
(3) @ @) (1) &% (2) =t

90 it involves increasing proportion of debt and preference shares in total capital.
(1) Capital budgeting (2) Trading on equity
(3) Financing decision (4) Financial analysis
........... ﬁ@ﬁyﬁﬁweﬁaﬁwﬁqﬁwa}wmsﬂm%l
(1) gsit ss1e (2) sfrdt ox 2T
(3) fRaaer ol (4) fa<iar faswor

91. The working capital requirement of a business is not likely to be high
when: ° 3

(1) The nature of business is trading

(2) Scale of operation of business is small

(3) Itis difficult to procure raw material

(4) The rate of inflation is low

Fpell sAamE @l i Goft @1 srasashar a9 o1 81 @5 GureeT T8 Y
g, 99 : '

(1) =gE™ & JPfa s &

(2) FEE™ & FIEH BT YT BT &

() F= A H E@hE FEAT FA @

(4) gETERIRT &t 3T HF B

92. If dividend portion of total earning is high, portion of retained earnings will be :
(1) High (2) Low (3) Moderate (4) Equal
afe B T 1 i fwr oIt B, o wfvenRa omw @ e @
(1) 3= ) =1 (3) "HEOH (4) SRR

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)
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93. Under SEBI regulations which one is nof method of issuing securities ?
(1) Right Issue

(2) Insider trading
(3) Follow on public offer

(4) Bonus Issue
N e & qeq Se-dr shfy o wer @ By @ E 7

(1) TsT 397 ) zEEsT 2fET
(3) WM I ufsts Sty

(4) aE 597
94. Which one of the below mentioned is known as Global stock market index ?
(1) SENSEX (2) FTSE-100
(3) BANKEX (4) NIFTY
Frfefa & ¥ frd IRas Tax IR gEw® 3 w9 F 1 S § 7
(1) 8= (2) THETEE-100
(3) S (4) Fret

95. Debt instruments or equity instruments of publically traded firm are issued in markets
ClaSSIRId 84S it :
(1) Primary market (2) Secondary market
(3) Money market (4) Funding market

gEete ®9 @ SRR HE aFl B ® HOT SURIOT I FEEel ITHI
.................... $ =9 § ofiga gomt § 9 BRI g

(1) safHs SR (2) fadEs =R

(3) X IR (4) BT TR

96. Example of derivative securities include :

(1) Swap contract (2) Future contract
(3) Option contract (4) All of the above
g St B IR i @

(1) ¥|9 Irged (2) wE sy
(3) fpeq STgEy (4) ST |

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A) PT.O
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97.

98.

99.

100.

channel ol distribution.

Mail order selling 18 @ cooveveenrsts '
(2) Indirect

(1) Direct

i (4) Sole
(3) Direct and Indirect .
|
AT oIfST frenr FRaRor @l W ooeeecere AT
(1) scTer (2) ITIAeET
(4) THHATA

(3) TcTer AN ST

a0 .
Under marketing mix which of the following is 707 2 part of product °

(1) List price (2) Quality (3) Design (4) Brand Name
T Fsrr % e P & & A-a1 S w1 R 7 @ 7
O i CHNOR. o BNOR SN O L
The word 'Market' has come from Latin word :

(1) Marketo (2) Matico (3) Marcatus (4) Marketio
‘Aehe’ % AfeT = q omar B

(1) =& () e () wrbew (4) =reBfeaT
Which one of the following promotion tools has mass reach ? .

(1) Advertising (2) Personal Selling

(3) Sales promotion (4) Public relations

Fr=faiea 7 9 e Tar Sy 5% 96 TET ¥ ?

(1) Fsmras ) =RET Ry

(3) fespr daew (4) ST

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(A)




1. Staffing includes :
(1) Determination of sources of recruitment
(2) Selection and placement of employees
(3) Transfer, promotion and maintenance of work-force
(4) All of the above
wfteT § anfEe ©
(1) =<t & Hrat @ R
) E=tEr # =EE iR FEh
(3) = @l T, qar o TEvEE
(4) SUH it

2. It refers to horizontal movement of employees along with orgainizational structure :
(1) Transfer (2 Trammg (3) Promouon (4) DEmntmn
(1) ®EiEREr - (2) HT?W“T ._(3),,. cra‘mﬁf : @): A S

3. Which type of training is provided to new employees in order to fz arize them
urg_amzatmn_al rules and pehcms their supenar and subordinates and soﬁ‘é&‘?‘
(1) Vestibule training @) Apprenuceship training S
(3) Internship training (4) Induction trammg__ A "I

mmﬁﬁﬁwmﬁmﬁﬁﬁ@t

a. Leadership which involves employc
(1) Autocratic | .
(3) Enclose e

'ﬁqa i ot Y = i 3
(1) Fg '
UG-EE-June, 2024/(Commerce-4 Y1
1k

o L



Motivation in nature is :
(1) Sociological process
(3) Psychological process
gepil H dom ®

(1) FETTeTER s (2) emdfeas sfwAT
(3) =i ufEEan (4) Sfes=w dfepar

(2) Physiological process
(4) Intellectual process

An autocratic leader is :
(1) Decision maker (2) Believe in lassieze-fair

(3) Encourages participation (4) None of these

I fzf—(ﬁ‘ﬂ ST - |

(1) fefa Fafar (2) do-dax 7 Rgam w2
(3) wrferd @ Seafed HaT 8 (4) TH @ B —

Control is associated with :
(1) Cooperation  (2) Direction  (3)
(1) wedm @ FEm

Gang plank stands for :




Y
.\w.
10 i i involves increasing proportion of debt and préfe:‘énééshares}in mﬁlﬂa}“ﬁl |
(1) Capital budgeting (2) Trading on equity
(3) Financing decision (4) Financial analysis
........... ﬁ@gﬁﬁmmaﬂwwmmmmﬁaﬁl
(1) gt st (2) sl ar 2w
(3) Feremarger folg (4) Forefra Reder

11. After liberalization measures the MRTP Act has place emphasis on :
(1) Controlling and regulat—idn of restrictive and unfair trade practices
(2) Conservation of foreign exchange
(3) Keep multinationals out of country
(4) Curb concentration of economic power
FariETeT IUE & e uHeTREndt erfafEm 3w ax S REr ® o
() B g _
3) sgusia FafEl H =GR § BT &I 2. Vst
(4) onfiep oiffts & dF=0T 9T SHHA e

12. Restrictive trade practices area sought to be reguls
(1) Insurance regulatory development Authority
(2) 'R&éér@ﬁ.ﬁaﬁﬁquﬁ[ﬁd’igf :




13. Rangarajan Committee, 1993 is associated with :

forms
(1) Privatization (2) Labour reform

(3) Industrial sickness (4) Monetary policy
FRE e, 1993 frad w8 7

(1) Frsfisszer (2) =" gar

(3) sfEnfres HHTd (4) #feep i

14. Which of following is the determinant of Economic environment ?
(1) The stage of development of economy -
(2) The level of income and distribution of income
(3) Availability of natural resources
(4) All of the above
Brt § & 1 onfiss wafawer s Fe
(1) otefemazen & fasa & =300
(2) ™ W &I A AT H f&Aawer
(3) wrepfres HATYAT Hl FYSTEAT
(4) I A

15. P lallning is:
(1) Aﬂintéii--- oo =



1

18.

19.

20.

(1) 9 A T @) 3 @ @

Guide to decision making is : ' A
(1) Policy (2) Procedure  (3) Method (4) Rule

fofg 9 & g AriefEEs @

(1) Hfa (2) BT (3) fafa (4) Fram

Everything that goes to increase the importance of role of subordinates is called : e
(1) Centralisation _ (2) Delegation :
(3) Decentralisation (4) Departmentation

A=Al & ARYET B o™ B g arlt 8¢ 915 I el o 8

(1) SErTer ' (2) wfafafasss
3) faddremzor , (4) Framirszer

The process of delegation is generally : _ 4
(1) Upward (2) Downward
(3) Vertical (4) Horizontal '
gfferss & afkar R 9% & ©

() SdarEr @) 8=

Departmentation means : T e
(1) Dividing activities g ) |
(3) Grouping of work.

fersriteRr 1 a7k ¥ -

e I
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24,

: a3 o g e At 4

T sTragaear a9 SAfeEs Bl P :
mﬂm o sprdefer Ot @t 3 _ "
(1) =ream @ g s o
(2) ereara & e & AEE SreT &
(@) @ W ) @ T HEA @
(4) GEIERRT 1 & FH A
If dividend portion of total earning is high, portion of retained earnings will be :
(1) High (2) Low (3) Moderate (4) Equal |
o G o B S R o B, A SR o i e S 27

(1) 3= (2) Fr=1 (3) HemH (4) =T

Under SEBI regulations which one is nof method of issuing securities ?

(1) Right Issue (2) Insider trading
(3) Follow on public offer | (4) Bor 5

(1) wEe 599 @
(3) il i dfssts ITHT . 4)ie

Which one of the below mentioned is known as Global st
(3) BANKEX

(1) 8=
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27.

28.

29,

Example of derivative securities include ;

(1) Swap contract (2) Future contract
(3) Option contract (4) All of the above
aeq afvsferdl & IAeT H gnfeer ¥ - :
(1) QU STFEy (2) W srgEy
(3) faheq STgsy (4) 39UTH A 4
Mail order sellingisa .............. ..channel of distribution.
(1) Direct (2) Indirect

(3) Direct and Indirect (4) Sole

ey StdT e Aeaor & Th covveennnnns AT B |

(1) sIaET . (2) oTIHE]

(3) Tt ofX omIEE @) T

Under marketing mix which of the following is nof a part of pr
(1) List price (2) Quality (3) Design BCOR
faqor Pysor & gea Fr=fafaa 5 | a"%}ﬂv-m Seqrs T fReET
(1) & g () TR (3) feome

(1) Marketo ) Matico  (3)
e ST %ﬁq El ?f ST % :
(1) s



31.

32.

Which of the following is not a business transaction ?
(1) Bought furniture of Rs. 25,000 for business.
(2) Paid for salaries of employees, Rs. 20,000.
(3) Cash withdrawn from personal bank account,
(4) All of the above

Rrerfafad & @ A-a1 Fqaa® aq-ad 7 & !
(I)W%mzsﬂoﬂmﬁwﬁmﬁﬁ;%

(2) FHaREt & Aa" H g fhar, 20,000 [T

(3) sfET % @R A e P, 1y 39T R 10,000 & |
(4) SUXH |AHI

Rs. 10,000 for domestic use.

Which external user of accounting information is most interested in knowing the long-
term solvency position of the firm ?

(1) Employees (2) Management

(3) Bank and Financial Institutmns 4) Res Ners . .
(3) b X faxim e

According to which of the following



B
95. Invoice is a source voucher for purchaser of goods :
(1) For cash purchases (2) For cash sales
(3) For credit sales (4) For credit purchases
I A B el B Q. Ob HG agE] #
(1) e Tl & g (2) sp= ot & ferg
3) B REf & fig (4) Afge afiz & fig
36. Goodwill accountisa:
(1) Personal Account (2) Real Account
(3) Nominal Account (4) None of these
el @ B
(1) &R S (2) arctas @
(3) AHATH @ (4) 3T & Hg T

37. A business rececives its bank statement showing the closing balance as Rs. 8,500
overdrawn. It is found that there were unpresented cheques amounte Rs. 2,000 .
uncredited deposits amounted to Rs. 1,500. Overdraft as per Cash E
(1) Rs. 5,000 (2) Rs. 8,000
(3) Rs. 9,000 (4) Rs. 12,000
s T Tar B gE 9 S 8 % 2,000 59
F aT 1,500 BT 1 MU b STHBNAE STHI F | s
2 g%

(1) 5,000 &9

(3) 9,000 F9F




e R oy | M v _
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39.

40.

Rebate is calculated for the period between date of :

(1) Payment and Maturity Date (2) Drawing and Payment of Bill
(3) Drawing and Maturity Date (4) None of these

e 1 o P RREH & fa o oty & R ) o ®
(1) s el oo fafer (2) Forr 1 SmeTT AR T
(3) smexer ofx gRgeEEr oty 4) =% F S T8t

Suspense Account is opened when :

(1) Balance Sheet does not match

(2) Trial Balance does not match

(3) Total of Sales Account does not agree
(4) None of these :
(@) g e Aw wEwEr
(4) =79 | =g T8 o




42.

Debenture Redemption Reserve is created ...............
(1) At the closure of previous accounting year

(2) Before 30th April of current year

(3) Before redemption starts

(4) All of the above
fesay qreq Rod
(1) Tss s ad & ga9yd 9%
@) =g A @ 30 of & weR
(3) AT g% 81 § g : TR
(4) SUH Gl a3

.............

Which of the following is mef truc about Debenture Redemption Reserve * 2 _
(1) DRR created @ 50% of amount of debentures issued before the commencement af

redemption. w0 |
(2) Withdrawal from DRR can be made only aﬁer 10% " debenty s
redeemed. . 0 Sl \ .J '

(3) DRR is required in case of Fully Convemhle Behegmgéf
(4) DRR is not required in case of debenmes with matt
less. i

e Arer R & s & 7 3
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45.

46.

47,

cach issued at @ premiu'm»nf 10% for

Birla Ltd forfeited 7,000 equity shares of Rs. 100 hare. The maximum amount of

non payment of first and final call of Rs. 40.per s
discount at which these shares can be reissued will be :

(1) Rs. 2,80,000 (2) Rs. 4,20,023

3) Rs. 4,90,000 (4) Rs. 3,50,0
;lm%ﬁ%g%quﬁwaﬁqﬁhemeﬁmmﬁﬁ’ﬁfﬁ?
D B BT 10% S HfEReT q¥ o BT e 100 & FeAH & 7,000 FEEE
ﬁﬂﬁzﬁrﬁﬁm1§?aﬁaﬁaﬂﬁﬁwﬁﬁfﬁﬂﬁmﬂm%m
o @1 e B, 98 BhT

(1) 2,80,000 93 (2) 4,20,000 &9

(3) 4.90,000 B9 (4) 3,50,000 &I

Employees Stock Option cannot be issued to :
(1) Managing Director
(3) Wholetime Director

Private Placement of issue is considered as :
(1) Registered issue
(3) Federal issue




(1) eHeler & Hag ® H 1 aryyear ;
(2) FrAw & delw & & 1 wrEmE

(3) fefar & STeqemifers dfed

(4) ®H H darg=l 1 gEE 9T

49. Which of the following is nof an objective of Analysis of Fmancial Statements ?
(1) To judge the financial health of the firm
(2) To judge the short-term and long-term liquidity position of the firm
(3) To judge the reasons for change in the profitability of the firm

(4) To judge the variations in the accounting practices of the busmess followed by
different enterprises

ﬁ?ﬁﬂﬁﬂnﬁ%ﬁs@rﬂwmaﬁm%mﬁmﬁf@ﬁﬁﬁaﬁmﬂr%ﬁm
F8 ' ?

(1) $5 & iy @eeq &1 e e |
(3) wH it arerrEer H oafEes %mﬁfaﬁr _ :

50.

(1) 31 times
R B
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f 52.

53.

54,

Which analysis is considered as dynamic ?

(1) Horizontal Analysis (2) Vertical Analysis
(3) Internal Analysis (4) External Analysis
o Rssor #r nfysher wrer omar & 7

(1) A Rsdmor (2) Fefarert fagereor
(3) eraRe® fagesor (4) =rer fagereoT

Zed Ltd. has balance in Provision for Tax Account of Rs. 50,000 and Rs. 75,000 as on
31st March, 2021 and 2022 respectively. It made a provision for tax during the year of
Rs. 65,000. The amount of tax paid during the year was

(1) Rs. 50,000 (2) Rs. 60,000
(3) Rs. 40,000 (4) Rs. 75,000
:%gﬁ*«\ﬁ%g%qmn:n—ef zoma?rtzozzm“rasw soommi’reh

...........

(1) 50,000 H9
(3) 40,000 57
Which of the following transactior

(1) Deposited Rs. 10,000 into bank
) Wlﬂldrew'-*casifﬁ‘nmlﬁﬁkhﬂﬁ% 12
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55. Amongst the following 'payment of bonus to employees' by an insurance company is
which type of activity ?
(1) Operating Activity
(2) Investing Activity
(3) Financing Activity
(4) Both Operating and Financing Activity

Frafeiad & @ us S s g ‘wdafEt # a9a & g’ &
& fafafiy g ?

(1) sf=mes afafaiy .
2) FRw R N
(3) Rreder T '
(4) gR=ETeE AR Aedmer S0 i

56. Henry Fayol is famous for :
(1) Scientific management (2) Social §G«
(3) Human relations approach (4) None of t
3H A Beas g afas B
(1) Fsni=res H&eT
(3) = Hsu g

57. Who is known as founder of "The spiritual father of social s¢ '
(1) Chester Bernard ) F W Taylm: =
(3) Henery Fayol . (4) Elton Mayo

(2) THo s=He
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59. For improvements in material handling, transportation,

60.

61.

inspection, storage the process |

is conducted which is known as :

(1) Method study (2) Time study

(3) Motion study (4) Fatigue study

gl HereH, afiged, ﬁﬁm,mwﬁgw%mmmﬁﬂ%ﬁﬁﬂ
e e $ wq F SHET A B

(1) fafer ereas (2) aFg FHAA

(3) wfer SveEs (4) &b AATT

The principle of order means :
(1) Superior to give instructions to subordinates
(2) Proper social order in an organization

(3) Subordinates to comply with given instructions
(4) All of the above

(1) st @ Fder 23 & RC aRs
() W § Sfr ETHT%EE L
(3) Ru wu FHE F1 9T B
(4) ST FH |

g M

In a cooperative society the prineipl
(1) Onesharconevote
(3) Novote pre

-

. U
O




63.

64.

Frsie &= B IAAT (PSEs) & fafader =51 awad & -
(1) Fsht &= @ gl adl &5 famh

(2) uftEm@ &% HTAT

3) 7@ &= 7 [ e

| (4) PSEs & 19T @liEn

of

A government company is any company in which paid up g‘:apital held {W verntient

is not less than ............... ; e e

(1) 49 percent (2) 50 percent ' =

(3) 51 percent (4) 100 percent | I :
w TR - t .'f»
(1) 49 wfcrerd (2) 50 wfcrera

(3) 51 wfasr (4) 100 st

The shares of Govt. company are purchased in the
(1) The Indian Govt. [
(2) The President of India o
(3) The Chief Minister of state where the head offi

(4) The Managing director of the ccmpany
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66.

67.

(4) North Atlantic Free Tr:

mmﬁ%wi‘fﬂﬂdﬁzﬁ&aﬁaﬁﬁlﬁaﬁ% é’ra‘a@tﬁ%qu
e ol e ¥ R e & wq A ST SR 2

maﬁﬁaﬁfmﬁaﬁrﬁtﬂ (2) Afyae Uil =
(3)mfh1ﬁﬂ=5qsrﬁ4‘la (4) wTHT THIE 1 THOT 9H

World trade Organisation was established to implement the final act of Uruguay Roung

Agreement of ..o 13

(1) TRIPS (2) GATT (3) UNO (4) TRIMs
SRR B ar H B R @ g o

(1) f= | 2) T (3) guasT 4) fo==
NAFTA stands for :

(1) North American Federal Trade Agreement
(2) North American Free Trade Agreement
(3) North Asian Free Trade Agreem

ATFT (NAFTA) %T eﬁfaf%‘

=t



70.

7L

19

Recently, ...... bank was Ia . 5 e T
o bin wivinie unched by Prime minister Modi to provide credit to
small entrepreneurs. 7 i & O

(1) Udyog (2) Laghu Udyog : £
(3) MUDRA (4) Ujjawal i

g 8 H, HW%%@%WQ&WWW%W.m.,..,,.,..-
6 H PIRT Frar

(1) S=rT (2) wg SR ] 5

(3) 7 (4) Foo 2ok

EOUs stands for : - , Ll

(1) Essential Operating Units . (2) Export Oriented Units | )
(3) Export Order Units (4) Essential Ordering Units - Ny
EOUs @1 &3 8 , |

(1) sTasgs 9= eEdl (2) P
(3) Frata sTRer sl (4) s

(1) Purchase of Machmery debited to Purqhase '; unt
(2) Sale of Old Furniture credlted to Sales Account s '



| 2{]

73.

74.

Wm(&ﬂ,_mﬁwﬁaﬁ)aﬁﬁuﬁﬂ@ﬁzﬂﬁﬂ%aﬁaﬁw

®

(1) == #H @i ArTT
(2) wier @ wdig @ETE e A T SAraeel

(3) 1 & Fofm & ergar

@) T & fi |
If the gross profit is 50% of cost of goods sold and sales are Rs. 1,50,000, the amount
of gross profit will be :

(1) Rs. 50,000 (2) Rs. 75,000

(3) Rs. 25,000 (4) Rs. 16,667
uﬁwwaﬁﬁa@aﬁﬁwmso%%ﬁwﬁmﬁ 1,50,000 &9F %,
a1 e @1y &1 iR BFl

(1) 50,000 ET (2) 75,000 59
(3) 25,000 EI& @) &

If an organization wants to develor
need as the business of the organizz
(1) Ready to use software
(3) Tailor-made software
afx S ST



W%Hﬁwwm%\%mmm:
(1) =Ry, $5ft afx Baqm

(2) &9, Ooft, e, e ot =g

(3) w9, Aiferbt & shad), ora ofie =
(4) I, e, worE i o1y

76. The industry which combines various ingredients into a new product is known as:

(1) Processing industry (2) Synthetical industry
(3) Assembling industry (4) Analytical industry

wa@wﬁﬁﬁqwﬁﬁaﬁmwwﬂrwm% aﬁw@nﬁ
ST STET 2

(1) TEEHIOT JEnT
(3) SrEEET IEET

(1) Innovation (2) Productivity {3)1111‘!:3
fr=fofaa & @ 50 =Zaam $ BT 3 &9 7§ 9
(1) Fam=me (2) SraTaEHT (3) e

78. Which of the following does nof characterize__busit;e;sg'fj
(1) Salary and Wages
(2) Presence of risk
(3) Sale and Exchange of goods and services
(4) Production of goods and semtes
P & & i e Tt
(1) a7 &R HoTEh '3' St AR 3
(2) e &t suRafy
(3) aEgS AR ﬁm@‘ﬁﬁ fe ofe R

el ~.|'-. Aot AL B F
!

-(4) m@ai’f S Barell a1 ST

t "’"."ugl!fhis own lmtiatl“i’e, condut:t orqbehavmur gi
i : uf the firm. Such partners is knnwn as .



wmaﬁqﬁ,mmmﬁ%mﬂﬁ@ﬁ
ﬁsasra#ammwﬂm%l&aqnﬂarﬁaﬁr_...............%wﬁmm%‘

(1) AR SRR (2) wEEae &
(3) wWhfthT s (4) T \ETETL
80. The maximum amount up to which a company can issué capital is called pevsnnersnnees
(1) Issued capital (2) Paid up capital
(3)" Anithorized CRPHAL 6 = (4) Subscribed capital |
ST 2 1
(1) srd oS (2) b Lol
(3) siferp It (4) FeEwEE IoN

81. X and Y are partners sharing profits in the ratio of 3 : 2 and capitals as Rs. 1,00,000
and Rs. 50,000 respectively. Z is admitted for 1/5 s are in profits. The amount el
contribute as capital will be : i R i
(1) Rs. 50,000
(3) Rs. 37,500 _

| 50,000 T # G T 1 Z B W
¢ ¥\ Gof & =9 A 2 &3 AT

(1) 50000898




B
the death of a partner, th

g3. On € amount due tg hj
() All partner's Capital Accounts (2) [l:; i e
(3) His Executor's Account 0 GB‘:‘::;‘;@ I::Ir:{ner's Capital Accounts
Wweﬁﬂaﬁﬁﬂﬁﬁﬁwm en evenue Account
ey = STHT Hr S ?
) SIEEUE R SIRC S (2) 99 wEErt & 9o @R
(3) ST FEE F @ (4) T F T @R

gs, Which of the following is transferred to Realization Account 7
(1) Balance of Cash Account (2) Patents Account
(3) Balance of Reserves (4) Balance of Profit and Loss Account
Prefaiad § @ B age @ ¥ wmiaia B smr 8 7
(1) & @I 1 AA (2) ¥ @ ' i
(3) f=rd @ AW (4)@1%@?[?@?-‘{@%351% _

85. At the time of firm's dissolution, if realized amount ef
value should be taken as : -

(1) Book Value (2) Ma;kew«aw&f
(3) Nil (4) None of these
o 3 frged ® G99, g IREaR # qrecfass T
qeg g9 HehY [T STl =8 : _ :
(1) =& T (2) TR G5
| (3) A @ FHE
86. Which of the following is #of a purpose for which Sect

(1) Issuing fully paid bonus to sharehnl,ders
usf_tq-.,;.hmhﬂlﬂexﬁ

(2) Issuing partly paid bon
L. (3) Writing affprelf;;_; nar
(4) In purchﬂsm its oW
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87. Which of the following statement does nof relate to 'Reserve Capital' ?
(1) Itis part of uncalled capital of company
(2) It cannot be used during lifetime of a company
(3) It can be used for writing off capital losses
(4) Itis part of subscribed capital
i & @ B a1 P ‘o ol & deiferr 7@ ® 7
(1) 98 Fo N gD T B RwT B
(2)maqﬁmmw%@mma%mqﬁmmm%
(3) T ST o AR @ R & Rrg BT ST EET @
(4) @& TeawEEEs UoN @ fewwm B

88. ABC Ltd forfeited 2,000 shares of Rs. 10 each (which were issued at par) held by

Naresh for non-payment of allotment money of Rs. 4 per share. The called-uP value per
share was Rs. 9. On forfeiture, the amount debited to : 111 D€ -

(1) Rs. 10,000
(3) Rs.2, 000

FHIROT T HY f‘q‘itm slﬁ‘r
e @ TE AR AW
(1) 10,000%9% " 2

.....



90. Premium on redemption of debentures is generally provided at the time of ...............
(1) Issue of Debentures

(2) Redemption of Debentures
(3) Writing off

(4) After 10 years

(1) R il v .
() ¥R B Ao | |
(3) a2 = & s
4) 10 =T ==

91. XYZ club has a bar that maintains a separate tra
Which of the following is the treatment of profit

(1) Profit or loss is directly shown in the Balance 8

(2) Profit or loss is to be presented in i-ngeme;ian&i
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92.

93.

94,

. : is i lete, th
When there is a building fund and construction of building is 1ncomp € amoyy,

spent is :
(1) Transferred to Capital Fund
(2) Transferred to Income and Expenditure Account

(3) Continued in the Building Fund Account

(4) None of the above
5§ waT By B iR wem w1 Fmir egw @r B, A @H B Ty

Bl 8 :

(1) 957t Ffer & i (2) 9 ST @1 T H FEART
() wa Ffy @y # o (4) S9d<h 7 | HE T

A Not-for-Profit organization includes :

(1) Religious Organizations (2) Trade Unions

(3) Clubs 4) All uf the above

O - e A mﬁlﬁ %

(1) =nf¥ep Hrest

(3) ==

Pick the odd one out of the following :
(1) Rent to Partner _
(3) Manasersicames




o

wal partners. They had advanc

and y are €9 vanced a loan of Rs. 40.000 :

o the firm on st August, 2019. The partnership deed is silent ;eczl?blm
of interest on loan. What amount of interest on loan is payable tff X lnfg the
closes its books of accounts on 31st March every year ? 1L

(1) Nil (2) Rs. 2400 (3) Rs. 1600 (4) Rs. 800
Xﬁym%m%uaﬁﬁlm,zowzﬁmﬁﬁﬁ '
Waﬂagqmmﬂmﬂzﬁrmﬁmmgaﬁﬁr&%wmﬂlm;;g
W%gﬁqﬁ@%laﬁﬁHWMnﬁﬂmmﬁﬂﬁmﬁﬁz
M%,ﬁxﬁmwwaﬁwmh%?

(1) T (2) 2400 &9F (3) 1600 59 (4) 800 594

X and Y are partners with capitals of Rs. 3,00,000 and Rs. 1,00,000 respectively. The
for the year ended 31st March, 2020 was  Rs.

d at 6% p.a. Y was entitled to a salary of Rs.

B
6 X
9 {:quaﬂy i

97.
profits (as per Profit and Loss Account)

1,20,000. Interest on capital is to be allowe

30,000 p.a. The drawings of partners were Rs. 30,000 and Rs. 20,000 respectively. The
interest on drawings to be charged to X was Rs. 1,000 and to Y neir

share of profit after necessary appropriations were :
(1) X Rs. 33,750; Y Rs. 33,750 (2) X Rs. 50,6

(3) X Rs. 33,000; Y Rs. 33,000

o o Y mwer 300,000 S S 100000 T A @;ﬁ% m

25: Y Rs. 1

31 @, 2020 @ @A af & 9 S (s ST
120,000 &9& &1 | 9= 9T v st @ W & H AT
73wty ad Ja= 9 eear ATl qrEETd & AT
20,000 B9 & | eEel 9T X & 1000 s9F ST Y FH S

ST o | eTaedsd [ArFEsT & a wre § ST fewar & - "

(1) X 33,750 53 ¥ 33,750 594 (2) X 50,625 Ta Yaa
(3) X 33,000 5u3; Y 33,0009 () X 48,750 &9 Y 48,

s ments -i.?;#}'é"ﬁfrefci"‘?i.
@) Goodwill is a current asset.

() Goodwill is an intangible asset




99. Weighted Average Profit Method of calculating Goodwill is useful when :
(1) Profits are not similar over the years |4
(2) Profits show a trend either rising or falling
(3) Profits are higher in one year and lower in another
(4) Profits are similar in all years
@y @ o BT A AR Sl ar By @ IwEE i ¥ o y |
(1) @ gut § gur 78 B ¥
(2) @ # gfm ar w0 i ygiy RaE 310 2
(3) @ u ad F siferes ofiw gER H %9 2w B
(4) @y 9T agt § §9 S 2

100. If the incoming partner brings the amount.

(1) Old Profit-Sharing Ratio
(3) Sacnfcmg Rﬂtlﬁ ]




1.

In a cooperative society the principle followed is :
(2) One man one volte

(1) One share one vote
(4) None of these

(3) No vote
gewrft afEfa 7 FPraffan fasta s ges B s 2
(1) TF 9T TH e (2) um =afen o @
(3) ®rg are wdf (4) g1t & g B

Disinvestments of Public Sector Enterprises (PSEs) imply :
(1) Sale of equity shares to private sector/public

(2) Closing down operation
(3) Investing in ncw areas

(4) Buying shares of PSEs
ardwifre &= @ Al (PSEs) & fafasr & arad & -

(1) =it &= =+ sfad 993 # =
(2) 9= S8 HEAT

(3) 9T &=t 7 Fraer &

(4) PSEs & 9157 @iiar

A government company is any company in which paid up capital held by government

ismotlessithan ... ......... :
(1) 49 percent (2) 50 percent (3) 51 percent (4) 100 percent
IH B a8 FOA & o AR ERT @ T g O

FHH TFET B | : _
(1) 49 wfersT (2—) 50 sfaera (3) 51 gafyeId. (4) 100 @i

The shares of Govt. cnmpany are purchased in the name of which of the following ?

...............

(1) The Indian Govt.
(z) The President of India

he Chief Minister of state where the head office of company lies
it tor uf the company

A8 s Tm gy e ¥

AR 9

e-4 Yr.)(SET-Z)/(C)




c

2
ivered to depository bank, which in turn

5. The Ordinary shares of a company are del

issues the depository receipt Known as .....cooooseaee
(2) Global depository receipt

(1) American depository receipt
(4) Certificate of deposit receipt

(3) Commercial paper receipt
Rreh et & et S RUtPTed ¥ @ A oy ¥, o geq § Rl
# e # o A g

THE A8 Hxar 8 B
(1) oA Rutmes e (2) Afgae feafEred =
(4) =7 TEHE W1 FATET 9

(3) e gz W
6. World trade Organisation was established to implement the final act of Uruguay Round
Apreementiof . ... .. 0. i
(I) TRIPS (2) GATT (3) UNO. (4) TRIMs
& IH X e B SR

Feg R GIeT @ S
AR FI @R HH B g #H 92 of
(1) feeg @) %= (3) TS (4) o=

7. NAFTA stands for :
(1) North American Federal Trade Agreement

(2) North American Free Trade Agreement
(3) North Asian Free Trade Agreement
(4) North Atlantic Free Trade Agreement

AT (NAFTA) a1 a1 #

(1) S8 omfia w9 FHERT

(2) ST oA goh M THEET

(3) ST UfkrArs g6 AT HHSE

(4) ST oedifed JTh AR THSET
UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(C)




urn

nd

8.

10.

11.

3

is the payment method most often used in international trade which offers
d for products sold internationally.

.............

the exporter best assurance of being pai
(2) Open Account

(4) Credit Rating Agencies

(1) Letter of Credit
s #1 ST ARh grEe gs i ®

(3) Factoring

............. afoeisiy st # w@ad sifas
B i @ ofoRiSAE W) 9T A o A o & P g Ry ST
7 TEE STEST SUYATHT HETT B B

(esirs (2) e e

G e (4) Ffee e oot

Recently, c.cooovemess pank was launched by Prime minister Modi to provide credit 1o
small entrepreneurs.

(1) Udyog (2) Laghu Udyog

(4) Ujjawal

(3) MUDRA
T & & s 9 S B SEfE @ Rer SEH BT B AL oo
S 1 YATKH {5 |

(1) wE | (2) g T

(3) 7= (4) I

EOUs stands for :

(1) Essential Operating Units
(3) Export Order Units
EOUs &7 a7 2 :

(3) Frafa emsr FHEAl

When debentures are issued at par and are redeemable at

(2) Export Oriented Units
(4) Essential Ordering Units

(4) STEEE TR TR

issue is debited 0 ................ .

(1) Profit and Loss Account. |
Del """'_?"_'_u;i;_fiée'pplication a_n'd Allotment Account

premium, loss on such an

P




12.

13.

............

(1) @y afre sfy @
(2) E¥gy amaes offy sfrEesT @l

(3) RBE=y srd s aT el

(4) Ara= g7 difeEs

Debenture Redemption Reserve is created ........ooevieeenie
(1) At the closure of previous accounting year

(2) Before 30th April of current year

(3) Before redemption starts

(4) All of the above
fSef=t AT o o ST ST ©

(1) foss & af & wae= 9
(2) =L @¥ FH 30 IS A TEd

(3) qraT gF B | usd

(4) SuTH T

Which of the following is not true about Debenture Redemption Reserve ?

(1) DRR created @ 50% of amount of debentures issued before the commencement of

redemption.
(2) Withdrawal from DRR can be made only after 19% of debenture liability has been

redeemed.
(3) DRR is required in case of Fully Convertible Debenture.

(4) DRR is not required in case of debentures with maturity period of 18 months or

less.

Ry dlw Rod & ar & Frafofed 8§ & @9 ar 9 9272 2
(I)W@ﬁﬁwﬁwmm%ﬁmaﬁnﬁw%m%mew

ST 2
) Dméﬁwmﬁﬁwm%w%ﬁrmaﬂm%ﬁﬁw

&l T 8 |
(3) ‘Iﬁm@qﬁaﬁ?ﬂu%%m%mﬁﬁbmﬁmwaﬁ%,

(4) 18 HEM o1 ST FH T qRyear
STEFHAT TE B Y A R B AR ¥ DRR A

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)f(C)

el il A



Cc

5
14. The loss of reissue of forfeited shares mot exceed the .......cocovzezaes amount
(1) Issued (2) Subscribed (3) Forfeited (4) None of these
rer P T QEd @ gARTEE A el fer & s FEF BN
(1) =d (2) erf¥Ea (3) el (4) 398 F Hg e
15. Birla Ltd forfeited 7,000 equity shares of Rs. 100 each issued at a premium of 10% for
non payment of first and final call of Rs. 40 per share. The maximum amount of
discount at which these shares can be reissued will be :
(1) Rs. 2,80,000 (2) Rs. 4,20,000
(3) Rs. 4,90,000 (4) Rs. 3,50,000
ﬁwﬁfﬁﬁiﬁwﬁqﬁﬁWaﬁqﬁaﬁ?aﬁmmqu
F7F B FROT 10% F MEEE 9 STh T T 100 59 s & 7,000 R
Mﬁww,mlgzﬁmﬁwmmmﬁwzﬁrﬁﬂ%ﬂ
T o1 @ 8, 98 B -
(1) 2.80,000 &92 (2) 420,000 59
(3) 4,90,000 B4 (4) 3,50,000 I
16. Employees Stock Option cannot be issued to :
(1) Managing Director (2) Permanent Employee
(3) Wholetime Director (4) Independent Director
17. Private Placement of issue is considered as :
(2) Unregistered issue

3 al is (4) Negotiable issue

(SET-Z)/(C) P.1
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18. Creditors or Suppliers are interested to know the ¢
(1) Profitability of the firm in relation to turnover
(2) Profitability of the finn in relation to investments
(3) Short-term solvency of the concern

(4) Effective utilisation of firm's resources
AR A1 erdfieal g8 e # s vea ¥
(1) =H3NgT & &g § B a5 aresedr

(2) FEsT & Heg # wH i aragEar

(3) FEET FI sTeqshifees dleadt
(4) B H GETEET H AR ST
2

19.  Which of the following is not an objective of Analysis of Financial Statements ?

(1) To judge the financial health of the firm
(2) To judge the short-term and long-term liquidity position of the firm

(3) To judge the reasons for change in the profitability of the firm

(4) To judge the variations in the accounting practices of the business followed by
different enterprises

i faae & fAseer @ 29 &

JET & ?
(1) B9 & fa<fra @y @ Smehea &1
(2) ®H 1 srusferr o ddefers aiear Rafy &0 oiees B
(3) wH = @rvyEar d ufkads ® BRET FH oMEET BT
(4)ﬁ%mﬁmamqmﬁmﬁmm%%@mmaﬁﬁﬁwaﬁt
AR HIAT ‘
Given the Opening Stock is Rs. 31,000, Closing Stock is Rs. 29.000 Sales i
3 L 3 3 3 1

Rs. 3,20,000 and Gross Profit ratio is 25% on sales; the stock turnover ratio is : e
(1) 31 times (2) 11 times (3) 8times (4) 32 times
fear ar & 5 e w1 31,000 59T B

_ | 1 ) THITT W16 29,000 593 ¥ R
3,20,000 593 B oiX wE 0 = | :
o WWHWW%o%;W--ﬁWa@m
(OESIETST  ©0(2) 11 T (3) 8 T (4) 32 1
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21. Staffing includes
(1) Determination of sources of recruitment

(2) Selection and placement of employees
(3) Transfer, promotion and maintenance of work-force

(4) All of the above

e & it B
(1) et 3 @ar @ AR
(2) et A ST g
(3) e H Ao, SRR ST T
(4) SaH Gl
22, It refers to horizontal movement of employees along with organizational structurc -
| (1) Transfer (2) Training (3) Promotion (4) Demotion
| wmw%wmﬁaﬁﬁﬁ%mﬂaﬁﬁm%
[' (1) BEiEE (2) SR G) R (@) TEEE

23. Which type of training is provided to new employees in order to familiarize them 10
organizational rules and policies, their superior and subordinates and so on ?

(1) Vestibule training (2) Apprenticeship training

(3) Internship training (4) Induction training

qu FHHE] B FISATD frat ot ifedl, o9 At A ardE AT
(2) wifdregen sfeEeT

(4) ST ST

- which involves employees in decision making process 9
il ! ~ (2) Democratic

(4) Lassieze-faire

P IS0
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26,

27.

28.

Motivation in nature is :
(1) Sociological process
(3) Psychological process
gl H Ao B

(1) awTemsia afEHar
(3) wAIEEE AR

An autocratic leader is :

(1) Decision maker

(3) Encourages participation

s ﬁl’f—ﬁljﬂ T -

(1) farta ek &

(3) HRTET @ Aoated sar @

Control is associated with :

(1) Cooperation (2) Direction
ferisror frad ST B 7

(1) "=art 2) =

Gang plank stands for :

(1) Vertical communication

X (3} Quick communication

29.

2) Physinlogical process
(4) Intellectual process

(2) qmiifeas AEpAT
(4) ehfeep SARRAT

(2) Believe in lassieze-fair

(4) None of these

2) Srr-dax & Rigara Far 2
(4) =78 & g 7Ol

(3) Planning (4) Organising

(3) ST (4) STEETH

(2) Horizontal communication

(4) Two dimensional process

T S 1 AqET ©

(1) e @ (2), S

() @R T (4) Sr-sTaTT wiEEE

................. maximization objective fail to recognize quality of benefits.

(1) Value (2) Wealth

(3) Profit (4) Both (1) & (2)

............. HAFHTHIRRT IEFH TN Al T[T H Gea= F ew =y X
(1) ge= (2) o

(3) @ @) (1) &% (2) A=

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(C)
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A e involves increasing proportion of debt and preference shares in total capital.
(1) Capital budgeting (2) Trading on equity
(3) Financing decision (4) Financial analysis
........... H g Goft A wor ofre arfiaen Sl @1 ST SGET A 2
(1) b S (2) zfFErdt gr 2fEa
(3) freramer ok (4) feretr ferserar

31. Aﬂer liberalization measures the MRTP Act has place emphasis on :
(1) Controlling and regulation of restrictive and unfair trade practices

(2) Conservation of foreign exchange

(3) Keep multinationals out of country

(4) Curb concentration of economic power

SerfEReT SUEt $ e HeTRE s § g@ ox S Rar @
(1) SRsaeE SR e K gt FEEer S A
(2) el a1 HT [T

(3) TEUSE AR H AT AET TS I

(4) onfdfss QifFh b BT T G

32. Restrictive trade practices area sought to be regulated in India by :

(1) Insurance regulatory development Authority
(2) Reserve bank of India
(3) Compem’on Act

“4) F@telgi exchange Management Act
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33.

34.

35.

36.

Rangarajan Committee, 1993 is associated with :
(1) Privatization (2) Labour reforms

(3) Industrial sickness (4) Monetary policy
TR Aty 1993 Brod deferr @ 7

(1) Frofreszer (2) =7 gaX

(3) aMEfs Sl (4) #ifzep e
Which of following is the determinant of Economic environment 7
(1) The stage of development of economy

(2) The level of income and distribution of income

(3) Availability of natural resources

(4) All of the above

=T § § 9 onféfes gaiaeer & fAuafs 8 7

(1) crdemaw & O &1 9o

(2) ST F &Y ST M H faRrCr

(3) HrfrE T W ST

(4) S9Tr<h G
Planning is :
(1) An intellectual process (2) Goal oriented
(3} A dynamic function (4) All of the above
e B -
(1) ws aSifss afpar (2) wg IHE
(3) us e & (4) SUAH |
The chronological sequence of steps is known as :
(1) Rule (2) Procedure (3) Method (4) Strategy
=N % FIGHAE TP B T WY F T ey D
(1) = 2) wiEeaT '
: i (4) TRty

UG-EE-June, 2024/(Commerce-4 Y’r.)(SET-Z)f(C)'
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38.

39.

11

Guide to decision making is :

(1) Policy (2) Procedure (3) Method (4) Rule
Prof & & ferg ArfafRier @

(1) = (2) wEHAT (3) fafe (4) FrEd
Everything that goes 10 increase the importance of role of subordinates is called :
(1) Centralisation (2) Delegation

(3) Decéntralisation (4) Departmentation
m@ﬂ?ﬁﬁ'a@ﬂ%%ﬁﬁwﬁaﬁﬁﬁmﬁmm%:
(1) AT (2) wraf=RES

(3) faEERTl (4) fersmfTREoT

The process of delegation is generally :

(1) Upward (2) Downward

(3) Vertical | (4) Horizontal

GRffeEee @ iR STHAR 9T Bl ® -

(1) TUX F A @) fa & TR

(3) ErE () S

Departme_:ntaticn means :
(1) Dividing activities
(3) Grouping of work

| (%Wafv‘rﬁﬂq@ﬁmw .

(2) Dividing work -
(4) Grouping of similar work

\e following is nof an error of principle ?
- of Machinery debited to Purchase Account

_5. M@han posted to Sohan Account

iling of existing Machinery debited to Machinery Account

P.E
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42.

43.

Rrffag § & - Rmsa gfE 787 2 7

(1) T =5 @i & Hy @ # MfFe FHar T

(@) S el o R B R A A B T
(BJWqﬁﬁ'ﬁeﬁwﬁﬂwwﬁnmﬁ@a

@) AeT [ e TG B Qe B @R 7 dee BHAr T

fire) the amount of loss debited 1s :

In the event of abnormal loss (say, loss of goods by

(1) Purchase Cost of the goods
(2) Purchase Cost of the goods plus GST paid

(3) As per the firm's decision

(4) None of these
L (38, ST @ A A e # Reky F 3w B A B B

2

(1) 71t & e are

(2) 719 & TE AFE A G T SeEd

(3) = & ol & FIgER

(4) 374 4 Fr3 T

If the gross profit is 50% of cost of goods sold and sales are Rs. 1,50,000, the amount

of gross profit will be : -
(1) Rs. 50,000 (2) Rs. 75,000

(3) Rs. 25,000 (4) Rs. 16,667

ﬂﬁﬂﬂﬁ’f W JE S e B AR B 50% © oA A 1,50,000 59 B,
(1) 50,000 Hq2 (2) 75.000 B9

(3) 25,000 H93 (4) 16,667 5qy

- Ifan organization wants to develop a computerized accounting system according to its
‘need as the business of the organization is complex, which software should it opt for ?

(1) Ready to use software (2) Customized software

(3) Tailor-made software (4) Any of the above
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A% B GO SO STEvEEar B AGEN HEEEiga dEn gonel s
HLAT AEAl & FAifh TP JGEH e dAled B, 99 HF-A dieEadl g
; 29

(1) ST & g A divedqr (2) wEedEes dtgead]
(3) TT-He dHiveaax (4) Iudrs § & HE o0

B

45. Grouping of Accounts means the classification of data from :
(1) Assets, Capital and Liabilities
(2) Assets. Capital, Liabilities, Revenues and Expenses
(3) Assets, Owners equity, Revenue and Expenses
(4) Capital, Liabilities, Revenue and Expenses
@rdl & THEHTT &1 A B e & Pt ¢
(1) Hufsr, 9ol afiy S=and
(2) Hafer, gof, SFand, TeRd S =ad
(3) "ufer, =ifeenl & sfFad, e AR =Y
(4) T, *FETE, ToRE S FA

46. The industry which combines various ingredients into a new product is known as :

(1) Processing industry (2) Synthetical industry
(3) Assembling industry (4) Analytical industry
ST S @

(1) FEERTT ST (2) FeSfes AT

(4) TS SE

(3) TSR
Which of the following cannot be classified as an objective of business ?
(2) Productivity
vestT (4) Profit Earning
. amw%ﬁw%wﬁaﬁ?ﬁ Hﬁﬁﬁmmm%?
(2) Sear=eRdT
(4) ST HHTT
B RO,
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43.

49.

90.

51.

W 1¢_

: : ivity ?
Which of the following does not characterize business activity

(1) Salary and Wages
(2) Presence of risk
(3) Sale and Iixchange of goods and services

(4) Production of goods and services
Freifeae § & @ e nffafy o fAdyar 78 8 7
(1) a7 3ty 7orgd

(2) sifEm ¥ sufeyfy

(3) FEgeTl S FareA! #H B o fafrra

(4) TEgT S JarsAt ST

: + 2 o : . i i thers
A person through his own initiative, conduct or behaviour gives an impression to o

that he is a partner of the firm. Such partners is known as ........c..u.. :
(1) Nominal Partner (2) Partner by Estoppel

(3) Sleeping Partner (4) Secret Partner

R Afh ST Y8, =Rl 91 =/@e) & Wregd § g & 98 9 aar 8
6 a8 & %1 wrfier 81 U9 welert @ % @Y H AT AT 2 |
(1) FEE 9rflErR (2) ST &) 9P

(3) T grdax : (4) T AFTER

The maximum amount up to which a company can issue capital is called ... -
(1) Issued capital (2) Paid up capita:l

(3) Authorized capital (4) Subscribed capital

ST 2
(1) s it (2) FFar gsh
(3) stftrpa Gofi (4) BT ot

XYZ club has a bar that maintains a Separate trading account for its trading activities
Which of the following is the treatment of profit or loss on bar trading activities ? :

(1) Profit or loss is directly shown in the Balance Sheet

(2)1 Praﬁt or loss is to be presented in income and éxpendimrﬂ account
(3) Profit and loss is credited in income statement

(4) Profit or loss is added to accumulated fund

- UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(C)




(namm-srﬁra%rﬁaaﬁ”ﬂsﬂzﬁﬁmm%
(E)Wmaﬁﬁmmm@ﬁﬁn@ﬁmmﬁﬁq
(3')maﬁta1ﬁr-@aqﬁﬁmwﬁwmm%
(4)Wmaﬁa$¥ﬁﬁlﬁﬁfﬁﬂﬁ?ﬂm%

52. When there is a building fund and construction of building is incomplete, the amount
spent is :
(1) Transferred to Capital Fund
(2) Transferred to Income and Expenditure Account
(3) Continued in the Building Fund Account
(4) None of the above

: 3 wmﬁmﬁ%ﬁrmmﬁﬁwa@m%ﬁwﬁ@w
) B B |

(1) oot R & wriaia (2).a:rma?r{auu@t%ﬁm-rﬁaﬁﬁ

() s ff @n J§ s () ST ¥ § AR T

'53. A Not-for-Profit organization includes :
(1) Religious Organizations
(3) Clubs

(2) Trade Unions
(4) All of the above

(2) 3= FFT
(@) 96 |

(2) Interest on Partner's Capital
(4) Interest on Partner's Loan

(2) FEER el 9T S
| (4) FRER H FOT I A
Yr.)(SET-Z)/(C) - P.T.O.
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55. A manager gets 5% commission on n

56.

57.

c

C

i mission, 2ross
et profit after charging such '30“"15 i
direct nature other than manager

profit Rs. 5,80,000 and expenses of in
LA L1 b :
are Rs. 1.60,000. Commission amount will be @B 22,000

(1) Rs. 21,000 (2) Rs. 20,000 (3) Rs. 15,000
UF TEYUF Hr 59 a8 B HHAILH Rt :
frerar &, waw @9 5.80,000 FIA afre 99
gpfa & @ 1.ﬁ0,0005q&%:a7ﬁwaanﬁ1—aﬂ:

(4) 22,000 FTH

(1) 21000553 (2) 2000057 (3) 15,000 %
oan of Rs. 40,000, contributed

hip deed is silent regarding the
loan is payable to X, if firm

X and Y are equal partners, They had advanced a |
equally to the firm on lst August, 2019. The partners
payment of interest on loan. What amount of interest on
closes its books of accounts on 31st March every ycar /s

(1) Nil (2) Rs. 2400 (3) Rs. 1600
X ofix Y SUeR & "EER 21 3@ 1 ST,

(4) Rs. 800
2019 @ ®H H FHE B9 g

Waﬂﬁng,ﬂoomﬁma{wﬁmmlﬁ@mﬂﬁé@ﬁwqrm%
IR @ @ B ==

W%Hﬁﬂﬁ?%lﬁﬁﬂ%ﬂﬂﬁﬁ
aﬂ—cﬁ%,ﬁrxﬁaawwmaﬁﬁﬁaﬁrﬁaﬁ%?
(1) = (2) 2400 593 (3) 1600 5T (4) 800 HIH

X and Y are partners with capitals of Rs. 3,00,000 and Rs. 1,00,000 respectively. The
profits (as per Profit and Loss Account) for the year ended 31st March, 2020 was Rs.
1.20,000. Interest on capital is to be allowed at 6% p.a. Y was entitled to a salary of Rs.
30,000 p.a. The drawings of partners were Rs. 30,000 and Rs. 20,000 respectively. The
interest on drawings to be charged to X was Rs. 1,000 and to Y was Rs. 500. Their

share of profit after necessary appropriations were .
(1) X Rs. 33,750; Y Rs. 33,750 (2) X Rs. 50,625; Y Rs. 16,875
(3) X Rs. 33,000; Y Rs. 33,000 (4) X Rs. 48,750; Y Rs. 48,750

X &R Y wmen 3,00,000 98 ST 1,00,000 9% H 9of & Ay qEER E |

58.

31 &, 2020 @ @At g9 B fg s (@ odiw mf mm SFET
1,20,000 98 o7 Goft 9X 6% i A @ X F s Ry s %i%Y 30()0())
Y ART ¥ JI9 9N B BHAL AT | WIHART B SAET0 HHAIT: 30.000 E@’@T
zo,ooosqﬁalwWWX@lnﬂﬂmﬁaﬁTYa%SOOqur’aﬁraqmﬁm

ST o1 | oTEege AT & 9 @ § S fewr oy -

(1) X 33,750 593 Y 33,750 593 (2) X 50,625 59%: Y 16 875.@:[&

(3) X 33,0007 Y 33,0005 (4) X 48,750 50, Y 48,750 w5

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)f(C)

& Y 5
x
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58. Which of the following statements is correct ?

59.

60.

(1) Old Profit-Sharing Ratio
,(3) Sacrificing Ratio |

(2) Goodwill is a current asset

(1) Goodwill is a fictitious asset
(4) Goodwill is an intangible asset

(3) Goodwill is a wasting asset

et § 9 @ gr sud @@ B 7
(1) e aeh spreafeer afteaf & (2) eafa g =g afveaf 2
(3) TN Wb =yef gfRwuf @ (4) warfer usp g afteufa 2

Weighted Average Profit Method of calculating Goodwill is useful when :

(1) Profits are not similar over the years
(2) Profits show a trend either rising or falling
(3) Profits are higher in one year and lower in another

(4) Profits are similar in all years

e Y TTorT ey @ wWikd ot e ffy a9 SwEel 2Rl ¥ S

(1) s a9 § ga 980 8 &

(2) @9 ¥ gis a1 = H vai R & 2
(3)Wﬂ%3ﬁﬁﬂfﬁmaﬁ1@?ﬁﬁqam%

(4) @ |l et § @A e ¥

If the incoming partner brings the amount of goodwill in cash and also a balance exists

in the goodwill account, this goodwill account is written off among the old partners in
(2) New Profit-Sharing Ratio

(4) Gaining Ratio

S g WEER St @ A s F A ® AR =g @[ § AW
2 O 3E = G B R AR & = SR ¥ e

(2) T TH-FEHT ST
(4) T ST |

ﬁg is not a bus-ineész‘transactiﬁﬂ fy

P T O



18 %?
e L T AL

(1) sgaam & e 25,000 99 WW@%.
(2) e & Fas Hr g A 20,000 & fard 10,000 94 |

(3) T & @@ @ e P, g I

(4) SYUH TH
knowing the long.

62. Which external user of accounting information 15 most 1

term solvency position of the firm ?

(1) Employees ) Management

(3) Bank and Financial Institutions  (4) Researchers
a@ﬁm@mmﬁaﬂmmﬁa&ﬂaﬁw@“mﬁ%
A § g oifYe s wEar 27

(1) F+ard (2) s

(3) ¥ 'elX faxig ger (4) SmerRal

63. According to which of the following accounting concepts, even the proprietor of a
business is treated as creditor to the extent of his capital ?

(2) Dual Aspect Concept
(3) Cost Concept (4) Business Entity Concept

Frefafa & & frd S SEE & STER, HEEE & @ B o 36
goit 1 G q% 99X " S e 7

(1) Money Measurement Concept

(1) &5 AT SR (2) B9 TE, AR
(3) SFTE ST (4) AEHAS 6 g
64. Valuation of stock at lower of cost or net realisable value is an example of ;
(1) Consistency Convention (2) Conservatism Convention
(3) Realisation Concept (4) Matching Concept .
ST 1 I T A 7 & FH S R o et v e &
(1) B BT (2) BT FFer | |
(3) RammEsiss Hiaw (4) AR FHige

UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(C)
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g5. Invoice is asource voucher for purchaser of goods :
(1) For cash purchases (2) For cash sales :
(3) For credit sales (4) For credit purchases 1
’

Ww%%m%ﬁqqﬁﬁmm%
(Z)Wﬁiﬁ%f@ﬂ

(1) s @i & o
{4)%%%@

(3) Wfse == % g
g6. Goodwill account isa:
(2) Real Account

(1) Personal Account
(4) None of these

(3) Nominal Account
ﬂ;‘ﬁaﬁ T e
(1) =fRET @
(3) AHEATE ST

(2) ariiass ©rt
(4) T8 q BE &l

closing balance as Rs. 8,500

67. A business receives its bank statement showing the
ounted to Rs. 2,000 and

overdrawn. It is found that there were unpresented cheques am
- uncredited deposits amounted to Rs. 1,500. Overdraft as per Cash Book is :

| (1) Rs. 5,000 (2) Rs. 8,000
] (3) Rs.9,000 (4) Rs. 12,000
@mﬂmaﬁrm%éﬁzmﬁ@w%ﬁwﬁwéﬁs,sma@

-aﬁﬁaﬁmw%laﬁww%ﬁﬁzoooaﬁﬁﬂﬁr%mﬁm%ﬁs
Q'@T{Lm@ﬁ@ﬂ?ﬂm%mﬂﬁﬁm%%mgﬁ%ww
(1) 5,000 59
-~ (3) 9,000 F9A

(2) 8,000 9
(4) 12,000 &9

sed for Rs. 5,00,000 and as per reducing balance method, 20%
cach year. What is the value of assets at the end of three years ?
(2) Rs. 2,56,000
(4) Rs.3,20,000
"P.T.O.



et C

& !-]E'iﬂ {ﬂ'ﬁl‘ TTEQT ! E-E @ “Es
ek fREaRT 5,00,000 w9 F whd @ S %mﬁqﬁg{qﬁlﬁ%{‘z@q
qrE A 20% S ETd enar oien &1 o #@e
FT B 7
(1) 3,50,000 594 (2) 2,56,000 59
(3) 4,00,000 59 (4) 3,20,000

69. Rebate is calculated for the period between date of ot of Bill

i m
(1) Payment and Maturity Date (2) Drawing and Pay

(3) Drawing and Maturity Date (4) None of thes¢ all
@?ﬁwﬁﬁwmﬁf%aﬂazﬁmﬁ%%ﬂfﬁjﬁ

(1) g sfie uitgearn fafer (2) fae @1 AR TV
(3) emexr ofix ulRueemr fify (4) =% & HE Al

70. Suspense Account is opened when :
(1) Balance Sheet does not match
(2) Trial Balance does not match
(3) Total of Sales Account does not agree

(4) None of these

A QAT a9 @en Ser 8, 99
(1) S5ie sfte A9 =& @t

(2) TS S99 A F8 @

(3) =Rt @1d T IFT 79 A8 " rar

(4) 39 | Hig T8I

71. X and Y are partners sharing profits in the ratio of 3 * 2 and capitals as Rs. 1,00,000
and Rs. 50,000 respectively. Z is admitted for 1/5 share in profits. The amount Z will

contribute as capital will be :
(1) Rs. 50,000 (2) Rs.35.000
(3) Rs. 37,500 (4) Rs. 60,000

xaﬁrvwﬁm3:z%agwﬁmaﬁ?r%ﬁr : 1.0
50,0006qﬁaﬁﬁgqﬁavna%|2a%rwﬁfUSF%WT%?:‘I-%ﬁoﬁg);ﬁjg

(1) 50,000 (2) 35,000 573
(3) 37,500 B9 (4) 60,000 T
UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(C)
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72. Amla, Bimla and Kavita were partners sharing profits and losses in th

Bimla retires and gives her share of profit to Amla for Rs. 3,600
Rs. 3,000. The gaining ratio of Amla and Kavita will be :
(1) 4:5 (2) 2:1 (3) 6:5 (4) 4:1
amw,faﬂw@?mfamma:l%mgqﬁfﬂmmmﬁmgqmam
arﬁwﬁaﬁwé’rﬁﬁ%aﬁ?mﬁmmmmﬁmeomﬁ
o HRIET Y 3,000 BUR F X B 1 orew ST HAGT H AIH SIS B -

(3) 6:5 (4) 4:1

eratioof4:3: 1.
and to Kavita for

(1) 425 (2) 241

73. On the death of a partner, the amount due to him will be credited to :

(1) All partner's Capital Accounts (2) Remaining partner's Capital Accounts

(3) His Executor's Account (4) Governments' Revenue Account

wmﬁmaﬁw,aﬁ%q-waﬁmaﬁwﬁ?
(1) |+ft et & 9o @ (2) 95 |EERE B Yol @
(3) SO s & @ (4) FXHR & T T

74. Which of the following is transferred to Realizatieri Account ?
(2) Patents Account

(1) Balance of Cash Account
(4) Balance of Profit and Loss Account

(3) Balance of Reserves
Prrfefad & & Fpa agel @@ F wEire e S 7
(1) bz @ A (2) T @

(3) Rt @ 9w (4) @ NX = @ w9

75. At theﬁm&bf firm's dissolution, if realized amount of asset is not given, the realized
 value should be taken as :

(4) None of these

(2) ST e
4) 3% § P T

(SET-Z)/(C) R
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22 " Premium can be used ? 1
76. Which of the following is nof a purpose for which Securitics
(1) Issuing fully paid bonus to shareholders
(2) Issuing partly paid bonus to shareholders
(3) Writing off preliminary eXpenses of the company
qifEad &l 39T

(4) In purchasing its own shares (buy back)

Rrfofgg & @ @ A1 Sged QA qﬁ%ﬁﬂ%ﬁmnﬁf@
fepar oI Wl & 7
(I)Wﬁ{awﬁwﬁmwwmﬂm
(Z)Wﬂ?ﬁﬁeﬁﬁmmﬁwwﬂmaﬁﬂﬁ Ll
3) HUN B uRPEs @E @ e
(%Wm%mvaﬂﬁ%ﬁ(waﬁﬂm}

= s [ 1 ! ‘?
77. Which of the following statement does nof relate to Reserve Capital’

(1) Itis part of uncalled capital of company

(2) It cannot be used during lifetime of a company

(3) It can be used for writing off capital losses

(4) It is part of subscribed capital

P & & @ @ Fue o O @ dea T8 R 7
(1) 98 Fa F FAFgH T H e B
(ZJMWW%W%WH'&WWW%
(3) =T SgEE Tl Gt @ feee & R e oo 3

(4) 98 GepEss Ooft @ fewr B

78. ABC Ltd forfeited 2,000 shares of Rs. 10 each (which were issued at par) held by
Naresh for non-payment of allotment money of Rs. 4 per share. The called-up value per
share was Rs. 9. On forfeiture, the amount debited to share capital will be :

(1) Rs. 10,000 (2) Rs. 8,000 (3) Rs. 2,000 (4) Rs. 18,000

Qe ffde § e 2 @ Y10 59 a9y §ET 3 2

,000 :

OY S f$U U ¥) @ 4 'Y Ofy 9T & erees WWWW(?E

-g?mﬁmmﬁrﬂw%—mm9m&mlmﬁ AT g “I
TS RT BN & e

(1) 10,0057  (2) 8,000 9 (3) 2,000 &9 T
UG‘EE-J une, 2024/ (Cﬂ'mmerce_4 Yr)(SET-Z)f(C) ' 3
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. g, Securities pPremium ;
% head : Account is shown on the liabilities side of Balance Sheet under the

(1) Reserves and Surplus (2) Share Capital
3G _iabilit;
(3) Current Liabilities (4) Non-Current liabilities
W%m%@mm%mwaﬁqw%mmﬂm%
(D) RoT oMY siferdrg (2) T G
(3) =T S (4) fre-=me, FeETd
80. Premium on redemption of debentures is generally provided at the time of .............. :

.- (1) Issue of Debentures (2) Redemption of Debentures

i (3) Writing off (4) After 10 years
%ﬁﬂT%%ﬁwﬁﬁuﬁmﬁTw ................ % @9 uEH B S

l

(1) Te=r sl = (2) =R & AT
(3) I @ # s (4) 10 & Tq=E

The working 'capita} requirement of a business is not likely to be high
when :

(1) The nature of business is trading

(2) Scale of operation of business is small

(3) It is difficult to procure raw material

(4) The rate of inflation is low

'ﬁ%ﬁmwﬁ#mmﬁnmmaﬁaﬁmqﬁ@a
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carnings Will b€ :

82. Ifdividend portion of total earning is high, portion of retained
(1) High (2) Low (3) Moderate (e Sl
ﬁ@amwmﬁﬂ%@m%?ﬁ[gﬁqﬁiﬁmmw
(1) 3= @) s (3) HeH (4) FTEL

3 : ; \ ks wurities 7
83. Under SEBI regulations which one is not method of issuing secur!

(1) Right Issue (2) Insider trading

(3) Follow on public offer (4) Bonus [ssue

A RfET & qen Be-d sty o S @ A T gL

(1) Tge 599 (2) FrEEsY <o
(3) Wil {9 afess <ITHT (4) =9 399
84. Which Dﬁe of the below mentioned is known as Global stock market index ?
(1) SENSEX (2) FTSE-100
(3) BANKEX (4) NIFTY
frfafea & & 58 3fs daT aoTR gawis & 9 F S S 8 ?
(1) 8 (2) THATEE-100
(3) Seberd (4) e

85. Debt instruments or equity instruments of publically traded firm are issued in markets

classified as.................... .
(1) Primary market (2) Secondary market
(3) Money market (4) Funding market

mﬁﬁmwammﬁaﬁﬁtﬁ%mmmsﬁ%ﬁw
.................... & &9 F Fied =R F S e i ¥

(1) Frf¥es g 2) i s
(3) I X (4) BT Ty
 UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(C)
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C

" 6. Example of derivative securities include :
(D SWETP gonirack (2) Future contract
(3) Option contract (4) All of the above
Za— ARET ® Semror § ey ¥
(1) &9 STgey (2) = e
(3) feaeheT orse (4) Tudn d@=t

. g7. Mailorder sellingisa............... channel of distribution.
(1) Direct (2) Indirect
(3) Direct and Indirect (4) Sole
a7 ISR foehy foRer @ us .l e B
(1) e | (2) TSI
(3) SUH ST STy (4) THEH

88. Under marketing mix which of the following is net a part of product ?

(1) List price (2) Quality (3) Design
frqor =T & deq RreteiEd § 8 -9 SO & e 78 v 7

D gEgea () ToE (3) fE=ms (4) s =
89. The word 'Market' has t':dm'é from Latin word :
(1) Marketo

(4) Brand Name

' (g) Matico (3) Marcatus (4) Marketio

@) A (3) Wb (@) WA

ik '-";_-‘;%fm fgnhwmg promotion tools has mass reach ?
' (2) Personal Selling

(4) Public relatmns
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91.

92.

93.

94.

(3) Sale of Machlnery of book value of Rs. 74,000 at
el ,\-j'-,- a
> @) C ve*f't Rs. 2,00,000, 9% Debentures jng equit
: Ity

L

iabikities are Rs 6[}5%'

ent |
Ay . 1 and ¢¥
Quick ratio is 1.8 : 1, Cun:ﬂt catio is 27 000 (4) Rs. 1,80,000
Determine the value of stock. RS. 1,62, 5 6
(1) Rs. 54,000  (2) Rs. 60,000 ;3; | % ot T gaae 60,000 swyy

@fa orgae 1.8 : 1 8, T
mzsasrn@ﬁmfﬁﬁaﬁ

P

f;}
Which analysis is considered as dynamlc
(2) Vertical Analysis

(1) Horizontal Analysis
(4) External Analysis

(3) Internal Analysis

Rre frsemmer @1 feeier | ST 8 7
(1) Sfeor frgawer (2) ST fass

(3) oAiaftes Reswor (4) AT faeeT

C

Zed Ltd. has balance in Provision for Tax Account of Rs. 50,000 and Rs. 75,000 as o
31st March, 2021 and 2022 respectively. It made a provision for tax during the year of

Rs. 65,000. The amount of tax paid during the year was :
(1) Rs. 50,000 (2) Rs. 60,000
(3) Rs. 40,000 (4) Rs. 75.000

s fifes & 9@ 31 W, 2021 ofIX 2022 H seHen: 50,000 H9Y AN

75000@%wmwaﬁﬁ%wﬁ%lwﬁa&%w650001;@_
'%ﬂﬁﬂﬁﬁﬂﬁ%@é%%ﬂﬂﬁﬁ#ﬂémmeﬁ |

(1) 50,000 593 (2) 60,000 573
(3) 40,000 B9 4) 75,000 H93

Which of the following transactions will result in
(1) Deposited Rs, 10,000 into bank
(2) Withdrew cash from bank Rs. 14,500

Flow of Cash' 9

loss of Rs. 9.000

shar
umrce-fi Yr )(SET-Z)f(C) €s
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| P A A B SR ol s & qer S 2
¥ (1) 9% F 10,000 597 507 fipy
It (2) ¥ ¥/ 14,500 597 Fz Py
) (3) 9.000 92X F = 9T 74,000 B B g% Feg o1 Adferd A=
| (4) 2,00,000 w9, 9% feday @ gfyas dradt 7 afrafla far
g5. Amongst the following 'payment of bonus to emplcyees by an insurance company is
| which type of activity ?
1 (1) Operating Activity
(2) Investing Activity
1 (3) Financing Activity
1 (4) Both Operating and Financing Activity

| ﬁmﬁﬁaﬁ%%wmm"mﬁﬁﬁwmw’mm
i | A g 7
._ (1) wiR=mes affafy
: (2) TasT nfamEfy
-' (3) Frcarer AR
(4) aRETe ST famrdier S iars

96. Henry Fayol is famous for :

(lj Smcm]ﬁé management (2) Social Science
uma "t'ela‘.hfms appmach (4) None of these

() T QB

s fo 'ﬂer ef "The spiritual father of social science" ?

| (2) F. W. Taylor

_ (4) Elton Mayo

fEr $ weE B ©Y F B ST SR % ?

(2) Tho T=go TN

(4) Twes Ay

A EGRE
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98.

99.

100.

(1) Superior to give instructions to subordinates

One head and one plan for group means :
(1) Unity of command (2) Orda:r :
(3) Unity of direction (4) Distlp;ﬂe
e & o o gRear o g AT H A

(1) oTRser = e (2) e

(3) fdser & gepenm
. inenection, storage the proc
For improvements in material handling, transportation, inspect = Frocs

is conducted which is known as :

(1) Method study (2) Time study

(3) Motion study (4) Fatigue study

el Herer, aftges, e, wﬁﬁmﬁﬁmmﬁmﬁﬁm
B RS .3 wq H AT A e

(1) fafer syemas (2) ¥79 FHAT

(3) IR svemE (4) =R AT
The principle of order means :
(2) Proper social order in an organization AN

(3) Subordinates to comply w:thgwenms ﬁﬂﬂs A
(#) All of‘the above L
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1. The working capital requirement of a business is not likely to be high
when :
(1) The nature of business is trading
(2) Scale of operation of business is small
(3) Itis difficult to procure raw material
(4) The rate of inflation is low
Rt sgaar™ @ mrdeier goft @t STEvgEar a9 afess B9 # Heraer q@ e
8, 99 :
(1) =Faa™d S g st o
(2) SEEE B HHEE I AAET BieT B
(3) F= T FH @hg BT HioAd &

(4) JAFHIT FH T &HH B
2. Ifdividend portion of total earning is high, portion of retained earnings will be :
(1) High (2) Low (3) Moderate (4) Equal
afe e ST 1 wsier e o1 R, o wftenfia s @ e v o
(1) 3= (2) Fr= (3) wemm (4) ST '
3. Under SEBI regulations which one is not method of issuing securities ?
(1) Right Issue (2) Insider trading
(3) Follow on public offer (4) Bonus Issue
Qe RfrE & qeq B-ar TR S w5 A i 9@ R0
(1) I 399 (2) TEEST ST
(3) wielr it afsers ST (4) S E 39
4. Which one of the below mentioned is known as Global stock market index 2

(2) FTSE-100
(4) NIFTY
' (2) THSTEE-100 ki
(4) Tt

(1) SENSEX
(3) BANKEX

.2




D

iegued in markets
o B ; firm are 1554
5. Debt instruments or equity instruments of puhllca”}’ traded

classified as ...c..ocoeeeiininnns
\ . i
(1) Primary market (2) Secondary marke
(3) Money market (4) Funding market
sqeror a1 FREE SO

g wg A FOER s gt wH & T
2 = ¥ ot adt § ol fg I ¥

6. Example of derivative securities include :
(1) Swap contract (2) Future contract

(3) Option contract (4) All of the above
g~ Hfogfaar & Saeer ¥ afEe €
(1) @9 gy ) wE ey

(3) fErepeg sTge" (4) I9<H T

7. Mail order sellingisa ................ channel of distribution.

(2) Indirect

(1) Direct

(3) Direct and Indirect (4) Sole

Ao TS s faaer &1 TH ..ovennnnnn I B

(1) segeE (2) STIAN
(4) THHTH

(3) Fc=ey eI eTITye

Under marketing mix which of the following is not a part of product ?

(1) List price (2) Quality (3) Design (4) Brand Name

faus BT & geg Frafeafag & @ S9-91 Soe & B 78 R 2

() g g9 (2) e (3) fevme (4) siis AW
UG-EE-June, 2024/(Commerce-4 Yr.)(SET-Z)/(D) |



9. The word 'Market' has come from Latin word :

(1) Marketo (2) Matico

(4) Marketio

(3) Marcatus
qree’ orss Afes 9w A oTAT B
(1) e 2) B
(3) "HeH (4) wafeR

10. Which one of the following promotion tools has mass reach ?

(1) Advertising (2) Personal Selling

(3) Sales promotion (4) Public relations

frfefaa & & frE T=X SUheT & AHH UgH ¥ 7
(1) fEsma= (2) =R et
(3) fershr Hads (4) STHEYS
1'1. XYZ club has a bar that maintains a separate trading account for its trading activities.
Which of the following is the treatment of profit or loss on bar trading activities ?

(1) Profit or loss is directly shown in the Balance Sheet

(2) Profit or loss is to be presented in income and expenditure account

(3) Profit and loss is credited in income statement

(4) Profit or loss is added to accumulated fund
x%m%wwm%ﬁmﬁrmmﬂﬁf&faﬁ%ﬁm%w

ﬁﬂmw%naﬁaﬁmﬂﬁﬁfﬁﬁwaﬁmﬁﬁmwﬁwﬂ%ﬁaﬂ

if T P w 22
' T s A G At she ¥ R o ¥
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- n
12. When there is a building fund and construction of buildi

13.

14.

15.

R D

ing is incomplete, the amoyy,

spent is :
(1) Transferred to Capital Fund
(2) Transferred to Income and Expenditure Account

(3) Continued in the Building Fund Account

(4) None of the above i€

Wmﬁﬁ@ﬁ%aﬂtwwﬁﬁwm{ﬂ@m%,ﬁf@ " Oy

BIet & : |
(2)meﬁtm@%ﬁwﬁﬁﬁﬁ

(1) g=it fAfer & weeraia

(3) sE= fafy @@ § s (4) odrn & | g TR

A Not-for-Profit organization includes : '
(2) Trade Unions

(1) Religious Organizations
(4) All of the above

(3) Clubs
U T-cTHSHH e H onfae & ¢

1) giffes dTes @) ¥z g
(3) T (4) SR [

Pick the odd one out of the following :
(1) Rent to Partner

(3) Manager's Commission
Prefafes & & fwm @ g3 ¢ g n
(1) wEER B (2) FEEE # O W =
(3) SEiErh 1 FHHNLAT (4) TS B F]OT YT A

(2) Interest on Partner's Capital
(4) Interest on Partner's Loan

A manager gets 5% commission on net profit after charging such commission, gross
profit Rs. 5,80.000 and expenses of indirect nature other than manager's commission

are Rs. 1,60,000. Commission amount will be :

(1) Rs.21,000 (2) Rs. 20,000 (3) Rs. 15,000 (4) Rs. 22,000
;_Jaw_%eaﬁrma?rwaﬂ%%mwwmm FHHILH
___;-5-800000 Em‘x* AX wEgs 3 FleE 3 STSATET  ATSTeeT

5@ (3) 15,000 592 (4) 22,000 H93

16.
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16. X and Y are equal partners. They had advanced a loan of Rs. 40,000, contributed
equally to the firm on Ist August, 2019. The partnership deed is silent regarding the
payment of interest on loan. What amount of interest on loan is payable to X, if firm

closes its books of accounts on 31st March every year ?
(1) Nil (2) Rs. 2400 (3) Rs. 1600 (4) Rs. 800
X X Y SET & 9@Er €1 Sl 1 e, 2019 @ owd A gue w®9 48

AP B BT 40,000 BUA H HOT Rar en ) wmEErd BEE e ar A &
& d9g ¥ gq ¥ 9 w87 @ 31 A @ e @l & feard #@=

FHLdt B, @ X swor o o1 H feedt ufsr dm B 7
(1) = (2) 2400 592 (3) 1600 59 (4) 800 B9

‘X and Y are partners with capitals of Rs. 3,00,000 and Rs. 1,00,000 respectively. The
profits (as per Profit and Loss Account) for the year ended 31st March, 2020 was Rs.
1,20,000. Interest on capital is to be allowed at 6% p.a. Y was entitled to a salary of Rs.
30,000 p.a. The drawings of partners were Rs. 30,000 and Rs. 20,000 respectively. The
interest on drawings to be charged to X was Rs. 1,000 and to Y was Rs. 500. Their
share of profit after necessary appropriations were : :
(1) X Rs. 33,750; Y Rs. 33,750 (2) X Rs. 50,625; Y Rs. 16,875
(3) X Rs. 33,000; Y Rs. 33,000 (4) X Rs. 48,750; Y Rs. 48,750
X olT Y M 3,00,000 59 &NT 1,00,000 €93 @ 9o & @Y AEER E |
31 =, 2020 = AT I & fo@ @ (9 IR TR @@ B AgER)
1,20,000 597 &1 | 9olt 9% 6% =iy a9 1 & | =AW= &3 S=w 1Y 30,000
&98 gic7 ad I I BT BRATT AT| WHSI B AT A 30,000 T TR

. 20,000 H9F & | BT WX X H 1000 9T X Y #H 500 v H = Raw
(1) X 33,750 $93; Y 33,750 593 (2) X 50,625 593; Y 16,875 59
(3) X33,000 59; Y 33,000 599 (4) X 48,750 59%; Y 48,750 54

17.

tements is correct ?
' (2) Goodwill is a current asset

(4) Goodwill is an intangible asset
%0
(2) @i o Ay aftEaty 2
(4 = oF orrd Ry
)/(D) '

BT 0.




19. Weighted Average Profit Me

20.

216

thod of calculating Goodwill i useful when : )
(1) Profits are not similar over the years

(2) Profits show a trend either rising or falling

(3) Profits are higher in one¢ year and lower in another

(4) Profits are similar in all years
@nﬁaﬁwmﬁﬁmﬁﬁaﬂmmﬁfﬁaﬁwﬁﬂ%%m=

(1) &7 aut ¥ g 7E e #

2) & & ghs a1 FH A wgf Rerd @ e
(3)61#1:?56113?&@#@4?5@%?@%3[%%%

(4) @7y =l aat § a9 S B

nt of goodwﬂl in cash and also a balance exists

If the incoming partner brings the amou
partners in :

in the goodwill account, this goodwill account is written off among the old

(1) Old Profit-Sharing Ratio (2) New Profit-Sharing Ratio

(3) Sacrificing Ratio (4) Gaining Ratio
oY T wEeR ey &l Twe § e ® ool ey @ # 9w
fEr = AeE 2, ﬁw%aﬁﬁyﬁwﬂmﬂ%eﬂaﬁwm%ﬁﬂm

ST
(1) GUAT |ATH-FEHNI 3T (2) I ATH-HEHSTH STIUE

(3) R STITT (4) T HFI
After liberalization measures the MRTP Act has place emphasis on :
(1) Controlling and rf:gulatmn of restrictive and unfair trade practices

(2) Conservation of foreign exchange

(3) Keep multinationals out of country

(4) Curb concentration of economic power
ERNEaY an"{’f % T TreTREdr sifufE er s'a W SR ﬁ'qr g
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22. Restricti.ve trade practices arca sought to be regulated in India by :

(1) Insurance regulatory development Authority

(2) Reserve bank of India
(3) Competition Act
(4) Foreign exchange Management Act

wﬁﬁwwmﬁ%aﬁﬂﬁﬁﬁ%mﬁﬁuﬁﬁmﬁﬁm
g g el

(1) e Frames R e

(2) s Rerd 96

(3) Sferes eifefEE

(4)%%9%3%%‘%@1&%@

23. Rangarajan Committee, 1993 is associated with :

(1) Privatization (2) Labour reforms
(3) Industrial sickness (4) Monetary policy
e e, 1993 fead d@diEE 2 7

(1) fsiteRzeT (2) =9 ga

(3) ot S (4) Az A

24. Which of following is the determinant of Economic environment ?
(1) The stage of development of economy
(2) The level of income and distribution of income

(3) Availability of natural resources




25. Planning is :
(1) An intellectual process

(3) A dynamic function

(2) Goal oriented
(4) All of the above

e 8
(1) wsp Nfses wfEpar (2) wiea 3HE
(3) uwsh ifcrshier sk (4) Sudren a4
26. The chronological sequence of steps is known as :
(1) Rule (2) Procedure (3) Method (4) Strategy
TR H BITIHED FAIEA B 59 9 F ST SN 8
(1) F=s (2) wfpan (3) fafr (4) ToTHT
- 27. Guide to decision making is :
(1) Policy (2) Procedure  (3) Method (4) Rule
Fofg &9 & fe Arfeftr @ s
(1) “Hf 2) s 3) ff (@) FEA
28. Everything that goes to increase the importance of role of subordinates is called :
(1) Centralisation (2) Delegation. '\« -
(3) Decentralisation (4) Departmentation
_aﬁaﬁaﬁaﬁm%nﬁﬁwﬁaﬁﬁﬁiﬁmﬁwm%
( IJ %ﬁw (2) sferTRE:

29. The pmn’ess of delegation is generally :
) U (2) Downward
(4) Horizontal

A SR ST aT @ ¥
(2) == e
(4) afest

Yr.)(SET-Z)/(D)
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30. Departmentation means :

31.

32.

7(31W%§rﬁﬁ%$m

- (2) Dividing work

(1) Dividing activities
(4) Grouping of similar work

(3) Grouping of work

Rrerieseor &1 ot & ¢

(3) @ H ALBIHLT (4) THTeT HE  AIEH T

In a cooperative society the principle followed is :
(2) One man one vote

(1) One share one vote
(4) None of these

(3) No vote

mﬂaﬁﬁﬁﬁmﬁmﬁﬁwwwmm%
(1) T A TH A= (2) o =fp TF A
() =% e et | @) T @ P T

Disinvestments of Public Sector Enterprises (PSEs) imply :
(1) Sale of equity shares to private sector/public

(2) Closing down operation

(3) Investing in new areas

(4) Buying shares of PSEs
méﬁﬁm%ﬂ%@ﬁf(PSEs}%ﬁrﬁ%ﬂaﬂW%

(1) Foroft &= g AT A
(2) qRETE "% HAT

/(D)

~ (3) 51 wfasmE (4) 100 gfyee

P.T.O.
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34.

35.

D
: following 2
) of which of the R
The shares of Govt. company are purchased in tos Dres
(1) The Indian Govt.
(2) The President of India ‘
. S ffice of company lies
(3) The Chief Minister of state where the head 0
(4) The Managing director of the company
5
TR HII %Wﬁnﬁiﬁaﬁﬁﬁﬁ?ﬂ%ﬂmwaﬁrﬂﬁ% .
(1) 9IRS TR
(2) 9T & Irseufe
(3) S9 T B PEANAT ST Hu w1 geAwE Red @
(4) ®9T & wET MR
The Ordinary shares of a company are delivered to depository bank, which in tum
issues the depository receipt Known as ................ o
(I) American depository receipt (2) .Glt_)bal depository receipt
(3) Commercial paper receipt 4) Ceﬂiﬁcatcgg:fdcp_q-sft fggeibt
e S Har & R L it & w9 H o o ¥y
(1) s fufored e (2) 3t Rafed wwia
@) A o= whe () 5 o oy

Yr.)(SET-Z)/(D)
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37. NAFTA stands for :
(1) North American Federal Trade Agreement

(2) North American Free Trade Agreement

(3) North Asian Free Trade Agreement

(4) North Atlantic Free Trade Agreement

arreT (NAFTA) &1 18 8 ¢

(1) Sy emafen |Hid AT FHEATT

(2) S SRR HeH AT FHAT

(3) IY RMEE TXH ATIR FHEAT

(4) STl ofediies I SR AT

often used in international trade which offers

T is the payment method most
1d internationally.

the exporter best assurance of being paid for products s0

(1) Letter of Credit (2) Open Account
(3) Factoring (4) Credit Rating Agencies

TSR Wwﬁmmmﬁaﬁaﬁﬁwqﬁﬁ%
.,- Gﬁﬁﬂiﬁiﬁﬂ%aﬁﬁsﬁﬁwwaﬁaﬁaﬁm%ﬁﬂwﬁmaﬁ
{Lf)m@ﬁ

(1) g 9= :
(4) ®fge AW it

---------------

PiT.O!




40. EOUs stands for : :
port Oriented Units

(1) Essential Operating Units (2) Ex ‘ ?
(4) Essential Ordering Units

(3) Export Order Units
EOUs @r a1ef & : )
(1) eTEgas qfeEne gehEan {Z)ﬁuﬁgﬁ@m*
(3) Fafa smRer gl (4) aTEead SR FREAT

abilities . 60,000,
41. Quick ratio is 1.8 : 1, current ratio is 2.7 : 1 and current liabilities are Rs 0

Determine the value of stock. A
(1) Rs. 54000  (2) Rs.60,000  (3) Rs. 1,62,000 (4) Rs.1.80.000

@Re STIRT 18 : 1 %, =iy ergur 27 1 ¥ of% =g @Al 60,000 B9 ¥
wih # g9 FraiiRa $Y - .

(1) 54,000 892  (2) 60,000 593  (3) 1,62,000 593 (4) 1,80,000 59

42. Which analysis is considered as dynamic ?

(1) Horizontal Analysis (2) Vertical Analysis -
(3) Internal Analysis (4) External Analysis
(1) AT s |

(3) it fassrer (4) A fgdrer
43 Zed Ltd. has balance in Provision for Tax Account of Rs. 50,000 and Rs. 75,000 as-nn
3131 March, 2021 and 2022 respectively. It made a provision for tax during the year of
Rs. 65,000. The amount of tax paid during the year was :
(1) Rs. 50,000  (2) Rs.60,000
) Rs.40000 (4) Rs. 75,000
s s 3 31 A, 2021 $TR 2022 H wWw: 50,000 wUA i
HEE ST & A AR ¥ af S A 65,000 wyy
(2) 60,000 H93
(4) 75,000 B9

Yr)(SET-Z)/(D)
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D

44. Which of the following transactions will result in 'Flow of Cash' ?

(1) Deposited Rs. 10,000 into bank

(2) Withdrew cash from bank Rs. 14,500
(3) Saleof Machinery of book value of Rs. 74,000 at a loss of Rs. 9,000

(4) Converted Rs. 2.,00,000, 9% Debentures into equity shares
ﬁﬁﬁﬁqﬂﬁﬁzﬁﬂ—maﬁﬁﬁ‘qﬂaﬁm'ﬁqﬁwﬁm?

(1) ¥% | 10,000 sqa 1 6T

(2) ¥B A 14,500 B9 THS EEas

(3) 9,000 FUA I BT TN 74,000 I F b A woferr A<h
(4) 2,00,000 B9F, 9% Festery @y hEd ddt & afaRia e

45. Amongst the following ‘payment of bonus to employees' by an insurance company is

which type of activity ?

(1) Operating Activity

(2) Tnvesting Activity

(3) Fina_nbing Activity

(4) Both Operating and Financing Activity

& _ (2) Social Science
~ (4) None of these

B TO.
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47.

48.

50‘

= 1L ?
r of social gcience

Who is known as founder of "The Spiﬁma{;‘at:cw_ Taylor
(1) Chester Bernard -‘t | Mayo J
(3) Henery Fayol sz %(4.) Elto 2 =9 ¥ fapa ST ST B
s Rre & o far & derT o 2T
(1) = 1 (2B ﬂﬁgiﬂ;
@) ¥l P (4);555
One head and one plan for group means :
(2) Order

(1) Unity of command : _
(3) Unity of direction (4) Discipline

e B R oF gRaar ofK g A H oY 8

(1) STmRsT % uHar (2) =

() FEer @ g (4) sTgemEd

For improvements in material handling, transportation, _iﬁSpéi:ﬁGn? storage the process
is conducted which is known as : '

(1) Method study (2) Time study

(3) Motion study (4) Fatigue study
LT % Y F ST ST B el i
(1) Ry svems @) w7 s

The principle of order means :

(1) Superior to give instructions to subordinates
(2) 'Prgp&r social order in an organization

(3) '-Siib‘bi;diﬁatﬂe;s;.;tu.-cam_ply with given instructiong

(4) All above X
N B R afrss
| Efﬁmn : X
B B Ry el ey
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51.

52.

53.

15

Staffing includes :
(1) Determination of sources of recruitment

(2) Selection and placement of employces

(3) Transfer, promotion and maintenance of work-force

(4) All of the above |

e H enfer @ ¢

(1) weft & Hr B Feien

(2) sH=REr @& FE IR Fghe

(3) HEE HT TGN, S AR TEEE

(4) IUU<H6 AHI

ent of employees along with organizational structure

It refers to horizontal movem
(4) Demotion

(1) Transfer (2) Training (3) Promotion
%Ww%maﬁﬂaﬁﬁaﬁraﬁﬁm@ﬁaﬁm%
(1) TTIaeT (2) wfaTeroT (3) gar=R (4) gEE=RT

Which type of training is provided to ne
organizational rules and policies, their superior and subordinates and so on ?

(2) Apprenticeship training

(1) Vestibule training
(4) Induction training

(3) Internship training

loyees in decision making process 2
(2) Democratic
(4) Lassieze-faire
et @1 QN HT § 7
(2) BT
B (@) SET-

T-Z)/(D)

w employees in order to familiarize them to

PEeC
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55.

S6.

57.

(D

Motivation in nature is :
(1) Sociological process
(3) Psychological process
TR F Brom §

(1) FaSIemTEtg gfsear
(3) " ST

An autocratic leader is :

(1) Decision maker

(3) Encourages participation

U ﬁ"f@ﬂ T

(1) folg faEr 2

() HriErd #r gt Fear

Control is associated with :

(1) Cooperation (2) Direction
Mg fraa g1 & ?

(1) Feam 2) e

Gang plank stands for :
(1) Vertical communication
(3) Quick communication

'G%wmaﬁmaﬁmmﬁﬁﬁmﬁ

(2) Physiological process
(4) Intellectual process

2) emdfE gEFa
(4) Sfeees HAfEAT

(2) Believe in lass'ie'ze.-f_afii-. '
(4) None of these

4) T & B =&

() Planning (4 Organising

- (4) JEET

(2) Horizontal communication
(4) Tiwp' dimén';-i__ignal process

() e T

(4) - v

Xir :j‘:i;atign objective fail to recognize quality of benefits.

(2) Wealth

(4) Both (1) & (2)
TEAT 2|

(2) Hufy |

4) (1) R (2) 3y

-4 Yr.)(SET-Z)/(D)
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(TR s ) involves increasing proportion of debt and preference shares in total capital.
(1) Capital budgeting (2) Trading on equity
(3) Financing decision (4) Financial analysis
........... H B Oofl # T ofw afiman Qudl @1 STUE ST ontHe B |
(1) gt so1e (2) s 9w SR
(3) famdisor fofy (4) faeia fageraor

61. X and Y are partners sharing profits in the ratio of 3 : 2 and capitals as Rs. 1,00,000
and Rs. 50,000 respectively. Z is admitted for 1/5 share in profits. The amount Z will
contribute as capital will be :

(1) Rs. 50,000 (2) Rs. 35,000
(3) Rs. 37,500 (4) Rs. 60,000

X S Y 9EER 3 : 2 B oo # @ gied & ST HET: 1,00,000 &9 3T
SOOOOH@&%@W%&ZE\%wﬁlfs%wrﬁ%ﬁmmﬁ%mmm
BIGSH & w9 & Z = AEe # S g e gnl o

(1) 50,000 9z (2) 35,000 59
(3) 37,500 9% (4) 60,000 9T

62. Amla, Bimla and Kavita were partners sharing proﬁts and losses in the ratio of 4 : 3 : 1.
Bimla retires and gives her share of profit to Amla for Rs. 3,600 and to Kavita for

Rs 3. 000 The gammg ratio of Amla and Kavita will be :

3) 6:5 (4) 4:1
1 & o § @ ofY By gied gy amiE
R oY @ W e otHe 1 3,600 €
1 o ol A H A SGIE SR

(3) 6:5 4) 4:1

w Y

jount due to him will be credited to :
(2) Remaining partner's Capital Accounts

(4) Governments' Revenue Account
<@ 2 T T o ST ?

(2) 9 ARIRT B Yo WA

(4) ETHR & T @I
)/(D) P O
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64. Which of the following is transferred to Realization A

65.

ccount 7

(1) Balance of Cash Account

(2) Patents Account

(3) Balance of Reserves

(4) Balance of Profit and Loss Account

Preferfas & & fpd gt @@ § iR B S 8 7
(1) 7% @ H 9

(2) UeT @

(3) R =t

(4) 19 ofT wife @ w9y

At the time of firm's dissolution, if realized amount of asset is not given, the realized
value should be taken as :

(1) Book Value (2) Market Value
(3) Nil (4) None of these

?ﬁ%%ﬁ%w,qﬁmﬁﬁﬁmﬁ?ﬁﬂﬂﬁﬂﬂé% dr araias
o 9 U foar ser =ney

(1) =&t gz e _(z;_ E I

Whlch of the following is nof a purpose for which Securxt:es Premium can be used ‘?

1 l} Issuing fully paid bonus to shareholders
(2) Issuing partly paid bonus to sha:ehﬁlder_:__s. .
(3) Writing off preliminary expenses of the company

(4) in purchasing its own shares (buy back)

ﬂ%;?ﬂmaﬁaqﬁm T B Fredh Rre sy st ST
by

28 il sl LS T R B g—
AT &9 & T frar @ @ Sy e
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| B Which of the following statement does nof relate to 'Reserve Capital’ ?
(1) Itis part of uncalled capital of company
(2) It cannot be used during lifetime of a company
(3) It can be used for writing off capital losses
(4) Itis part of subscribed capital :
{ Rrefafed § & @B o1 s e o @ wefaa 7@ ¥ 7

:h (1) 98 HI & T9gh Yo o feewm B
(2) TEHT ITAT B B Aaprer B A T fpET A R B
' (HWWWW%E&W.%EWWWW%

(4)%@?&35@@35[%@%

| 68 ABCLu forfeited 2,000 shares of Rs. 10 each (which were issued at par) held by
Naresh for non-payment of allotment money of Rs. 4 per share. The called-up value per
share was Rs. 9. On forfeiture, the amount debited to share capital will be :

i
’ (1) Rs. 10,000 (2) Rs. 8,000
(3) Rs. 2,000 (4) Rs. 18,000

W%ﬁ%@%ﬂmm@mlowﬁﬁfﬂm%zﬁooé’lﬁt(ﬁi‘r@rﬂa@
w-mﬂﬁqm.ﬁ)ﬁ4$@qﬁrw&-aﬂaﬁmmwﬂzﬁﬁ%
Wﬁﬁﬁﬁﬁlﬂﬁtéﬁ?ﬁﬁ—ﬂ@@ﬂ&%ﬁﬁﬂ,%@ﬁ

(2) 8,000 &9
(4) 18,000 &9

(1) 10,000 HT
(3) 2000593

\ccount is shown on the liabilities side of Balance Sheet under the
(2) Share Capital

(4) Non-Current liabilities
e we Py 9w @ ced Ramr R

) T Q.
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70. Premium on redemption of debentures is generally p

71.

2

rovided at the time plir e o0

(1) Issue of Debentures (2) Redemption of Debentures

(3) Writing off (4) After 10 years =
e & Traa qv MffaT AT 9T oooiieeaiees & THg H&r STt
21

(1) fEs=ay sl &= (2) fed=w & Hred

(3) sz @ F s (4) 10 g @

When debentures are issued at par and are redeemable at premium, loss on such an
issue is debited to ................ ;

(1) Profit and Loss Account
(2) Debenture Application and Allotment Account
(3) Loss on the issue of debentures

(4) Premium on Redemption

m%ﬁmwwﬁﬁmwﬁ%msﬁﬁmwﬁﬁﬁﬁﬁﬁ% ar aa
e o 89 ash sifr &1 . ¥ 3fee fpar Smem B

(1) @ fx &l @
(2) fesEY enasH SR AT
(3) f=d=x 9 &< 9T B+

(@) JrgT 9T s

Debenture Redemption Reserve is created .................... i

(1) At the closure of previous accounting year
(2) Before 30th April of current year
'-(?f) Befﬂre r“édamptl on starts

e-4 Yr.)(SET-Z)/(D)

e

e
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ich of the fi Ang i
ES RN ¢ following is not true about Debenture Redemption Reserve ?

l: IL{L T E-Ell * L] dEbenlurﬂs 155uc

(2) Withdrawal from DRR can be made only after 10% of debenture liability has been
redeemed.

(3) DRR is required in case of Fully Convertible Debenture.

(4) {)RR is not required in case of debentures with maturity period of 18 months or
ess.

fedax OEF Rod $ g § Frefafag § @ @ a1 89 TR ?

(1) W%ﬂﬁaﬁawaammmmaﬁm%so%uTDMW
ST 1
\/rEA

(2) DRR ¥ Pt Faw aoft o on weeh ¥ o Rsfew 3o & 10%
& AT Bl

(3)®W@Tqﬁaﬁ?ﬁﬂ%€iﬁ1%mﬂ%ﬁDRRﬁmsmaﬁfﬁ%l
(4)18H@%mw%maﬁqﬁmmﬁa@%ﬁﬂtﬁmﬂ%ﬁnﬂaﬁ
aTESghdr Tl © | . ,

74. The loss of reissue of forfeited shares nof exceed the ........coneenee- amount
(1) Issued (2) Subscribed (3) Forfeited (4) None of these
e Fpa T SR B AR B B ofer § oo 7@ BN
(1) = (2) s (3) St | (4) 5 | R T

Bn'la Lgd fﬁgfmtﬂﬂ, 7,000 equity shares of Rs. 100 each issued at a premium of 10% for
0 ﬁrst ‘md ﬁn&l call of Rs. 40 per share. The maximum amount of
shares can be reissued will be :

‘ (2) Rs.4.20, 000

(4) Rs.3,50,000

SR @ ueel ol offeH Arerl @ gmart A

'aﬁﬁﬁqmlﬂomnﬁ?ﬁ%moﬂgﬁaﬁ
3B tﬁhﬁr‘fﬂmsﬂwﬁﬁﬂﬁaﬁ

) 4,20,000m%r
- (4) 3,50,000 T
| P.T.O.
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76. Employees Stock Option cannot be issued to

78 L]

(2) Permanent Employee

(1) Managing Director -
(4) Independent Director

(3) Wholetime Director

FHaTl @i ey ol 78 fhar o @l © ¢
(1) weig FRers () e FHETd

(3) golmifes R (4) = FReH
Private Placement of issue is considered as :
(2) Unregistered issue

(1) Registered issue
(4) Negotiable issue

(3) Federal issue
Frfrs & fFrelt Saie @1 =9 g 59T a2
(1) dsirpa frtas () s fr
D g i (4) T R

Creditors or Suppliers are interested to know the :

(1) Profitability of the firm in relation to turnover
(2) Profitability of the finn in relation to investments
(3) Short-term solvency of the concern

(4) Effective utilisation of firm's resources

AR 1 eMyfiHat 7E S ¥ sy e
(1) =teax & 959 & % 3 srasEar

@) i % R

he financial health of the firm

for change in the profitability of the firm

 Yr.)(SET-Z)/(D)
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ﬂ E‘ljﬂlq%ﬁmﬁ? + Rsewer & sRen & fe Fr<fafaa & & $o-a1 o o

L RIS L G e S —
(3) FH A eI A oRed & wrod @1 s T

(4)ﬁﬁqsﬂﬁmww@aﬁw%a@mmﬂﬁﬁrﬂmzﬂ
STRET AT

80. Given the Opening Stock is Rs. 31,000, Closing Stock is Rs. 29,000, Sales is
[ Rs. 3,20,000 and Gross Profit ratio is 25% on sales; the stock turnover ratio is :
' (1) 31 times (2) 11 times (3) & times (4) 32 times

| R T & B e @i 31,000 593 8, Guie @i 29,000 59 3,
';, %,2.0,0()0 B ® Sl W W orga R 9v 25% ¥ Wi eelEn A

(1) 31 =7 (2) 11 7= (3) 8 =T (4) 32 T
81. Which of the following is not a business transaction ?
(1) Bought furniture of Rs. 25,000 for business.
| (2) Paid for salaries of employees, Rs. 20,000.
' (3) Cash withdrawn from personal bank account, Rs. 10,000 for domestic use.
(4) All of the above
Fr=feiea & & HF-a1 Faaas dT-a7 T e 7
(1) ==aar & RIg 25,000 99 1 FER T
(2) F=fRat & aa9 ® P R, 20,000 B9 |
(3) =feTa F6 @R & THs MR, g STEE 3 R 10,000 593

s ®.

g irifannati'qn is,_lmost interested in knowing the long-
(2) Management

(4) Researchers

PEREO)
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83. According to which of th

84.

85.

b

e proprietor of ,
e following accounting concepts, EVen the p 4

‘? 1
business is treated as creditor to the extent of his CﬂP‘ml '.

(2) Dual Aspect Concept

Gl (4) Business Entity Concept .;
'E'ﬁawa@mm%mﬁm mﬂﬂ%mﬁlﬁﬁrmi

(1) &9 |9 STa=Len @) Se e ST

I (4) s FEE ST

(1) Money Measurement Concept

Valuation of stock at lower of cost or net realisable value is an example of :

(1) Consistency Convention (2) Conservatism Convention

(3) Realisation Concept ; (4) Matching Concept

AT AT o aget A e § @ % 0X W H1 gedih Th SIET ©
(1) SREEE Fda &)mﬁﬁ?ﬁaﬂ“ '

(3) RATEAIT FHiF< (4) AfE a;r%‘z

Invoice is a source voucher for purchaser of goeds

(1) For cash purchases (2?-) For cash sales

(3) For credit sales (4) For credltpurchasea

I E'h‘ Far & o o H"lﬁ EIEEES % |

(2) Real Account
(4) None of these

(2) ar=aies @rar

h @) % A N =5
e-4 Yr.)SET-Z)/(D)

D

g

e e

g
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n business i Pl

| ? 87- Averdrawn Ill‘.c'cewes Its bank statement showing the closing balance as Rs. 8,500
0 § d-. 18 f:ound that there were unpresented cheques amounted to Rs. 2,000 and

.l uncredited deposits amounted to Rs, 1,500. Overdraft as per Cash Book is :

3 (1) Rs. 5,000 (2) Rs. 8,000 (3) Rs. 9,000 (4) Rs. 12,000

| Th A B oA ¥ Rede s dvr , forad @um 99 8,500 T

; aifere REm™T T ¥ A arer s & fp 2,000 sud # AT F SwElwG =F

i gaﬁtl,smmaﬁnﬁt%mﬁﬁmau%mgﬁs%a@ﬁm

(1) 500059  (2) 8,000 593  (3) 9,00059F  (4) 12,000 593

i 88. An asset was purchased for Rs. 5,00,000 aﬁd as per reducing balance method, 20%
| _ depreciation is charged cach year. What is the value of assets at the end of three years ?
._ (1) Rs.3,50,000 (2) Rs.2,56,000 (3) Rs.4,00,000 (4) Rs. 3,20,000

o GREGRT 500,000 B ¥ wid v o ged 99 A 9=k B S,
S oY 20% HeERT SEr ol B W i @ ofd § aRedRE BT
T X ? :

(1) 3,50,000 59F  (2) 2,56,000 59 (3) 4,00,000 57 (4) 3,20,000 5IH

89. Rebate is calculated for the period between date of
(1) Payment and Maturity Date (2) Drawing and Payment of Bill -
Q) DrawmgandMatuntyDate (4) None of these

@) T § o T

P‘ T. 0-
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91.

92.

i
g T a9 @ e 8, o %

(3) Rt @ @ AT A TE e
(4) 298 q g T8

Which of the following is not an error of principle 7

(1) Purchase of Machinery debited to Purchase Account

(2) Sale of Old Furniture credited to Sales Account

(3) Repairs on the overhauling of existing Machinery debited to Machinery Account
(4) Cash received from Mohan posted to Sohan Account :

frre=feRea 5 @ H=-d1 faeia Jc F&@f e ?

(1) "1 =6t @l = %y @ d Sfee R 73

(2) g wAER W0 faEn @ fosel @ # &fse e T4
(3)ﬁqgrnaﬁqﬁﬁaﬂaiﬂ%mq?qmﬁa?rqsﬂ?ﬁ@ﬁﬁ%ﬁiﬁmrw
(4) e q g FqHd H QA B @R A 9 B

In the event of abnormal loss (say, loss of goods by fire) the amount of loss debited is :
(1) Purchase Cost of the goods

(2) Purchase Cost of the goods plus GST paid

(3) As per the firm's decision

(4) ‘None of these

e B (S, W%Wﬂﬁaﬁ)fﬁﬁﬂ%ﬁ%ﬁﬁaﬁnﬁ‘aﬁ‘rﬁﬁ

B
(1) |1 & @lg T

-(S)tﬁéﬁ?ﬁf"h%aﬂﬂﬁ

-c4)$=ri\‘1?rﬂ€1£=rﬁ

(2) Rs. 75,000

b
.

e-4 Yr.)(SET-Z)/(D)

(1) asta shre aw & @i
(2) FrEsE S A TE @ \

e

e ————

B
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ﬁmmﬁwﬂﬁﬁﬁﬁ AT W 50% B afrr R 1,50,000 9 B,

(1) 50,000 vz

| 1) 25.00 (2) 75,000 59
| L a0 (4) 16,667 573

: . If an organizati _ . . :
, 1 : ganlzailfm wants to develop a computerized accounting system according to 1ts
1 need as the business of the organization is complex, which software should it opt for ?

(1) Ready to use software (2) Customized software
(3) Tailor-made software (4) Any of the above

aX BE WIET A Evmed $ SgER wgedga s Sl st
FHTAT =TEAT ¥ G e SaEE @ed Sed 8, $§ Pe-a dreedal g

=ifeq ?
(1) ST & fu dar Aty (2) HEAETS diFaal
(3) WR-AS HiFeTax (4) Sules & B o0

95.- Grouping of Accounts means the classification of data from :
[ | (1) Assets, Capital and Liabilities
(2) Assets. Capital, Liabilities, Revenues and Expenses
3 ASSeté,_.-O'WHers equity, Revenue and Expenses
(4) Capital, Liabilities, Revenue and Expenses

(2) Synthetical industry
(4) Analytical industry _
N <

PO,
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97.

98.

99.

100.

£ business ?
Which of the following cannot be classified a : ) profit Earning '.J'
(1) Innovation (2) Productivity  (3) Investmen &fF faT T Eehe x> B
PrRRa & @ fpd erawrd & sked # w9 H (4 @ FE

(1) |araTT (2) ITATEERdT (3) fererdl

, : ity 7
Which of the following does rof characterize business activity

(1) Salary and Wages

(2) Presence of risk

(3) Sale and Exchange of goods and services
(4) Production of goods and services

Prfofas § & @ a3 EEEdr
(1) o= sfx #"Asgd
(2) shiEs @ Iafeaf
(3) ﬁﬁ@?@ﬂeﬁﬁﬁ?ﬁaﬁ?ﬁﬁﬂﬂ
(4) gegall oNX [ansdi 1 I
1|
A person through his own initiative, conduct or behaviour gives-;aﬁ imﬁf?ES"sit}n to others
that he is a partner of the firm. Such partners is known as ..........c..... .

7e & 7

. (1) Nominal Partner ~ (2) Partner by Estappel

(3) Sleeping Partner (4) Secret Partner
usp SfRE oI UsW, SIERT 41 HdER & HeIH § SER) F

%wﬁmﬁm%@ﬁﬂ@m”gf .....

.................

i I ssued eapual (2) Pa:d up cap:tal
Authorized capital (4) Subscribed capital
nﬁrmwﬁéiﬁwvﬁﬁmmmﬁ%aﬁ . FE
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